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Question Number : 1 Question Id : 6009298286 Question Type : MCQ Option Shufflin

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which statement best describes viruses?

Options :

1. # They are visible under a compound microscope
2. # They cannot pass through bacterial filters

3. % They can reproduce outside a host cell

4. ¥ They can cause disease in both prokaryotes and eukaryotes

g : Yes Is Question Mandatory : No Option

Question Number : 1 Question Id : 6009298286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 9 UH QD gerelf & i foars 3a g

2. % J YaIa theex § E) TR ebd

3. % 3 U Dol A P STeR Yol B Tohd &
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Question Number : 2 Question Id : 6009298287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
do not fall within the Five Kingdom scheme.

Options :

1. ® algae

2. ¥ viruses
3. # protozoa
4. % fungi

Question Number : 2 Question Id : 6009298287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Rard

2. ¢ SildIY]

3. % TICISlaf
4. % Hdd

Question Number : 3 Question Id : 6009298288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Gram reaction developed in 1884 by Danish physician Christian Gram is used only for:



Options :

1. ¥ Bacteria
2. % Fungi
3. % Virus
4. #® Algae

Question Number : 3 Question Id : 6009298288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ Siiarg]
2. % hddh
3. % fqumy
4. % Qarq

Question Number : 4 Question Id : 6009298289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

All organisms have two names-the first signifies the genus and the second signifies the:
Options :

1. % Kingdom

2. % Order

3. ¥ Species

4. % Class

Question Number : 4 Question Id : 6009298289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



1. % ST
2. % M7
3. ¢ Sffd
4. % qif

Question Number : 5 Question Id : 6009298290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The major constituent of milk which ranges from 85.5 percent to 88.7 percent is:
Options :

1. ¥ Water

2. # Lactose

3. % Fat

4, % Protein

Question Number : 5 Question Id : 6009298290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ S

2. % dacrel

3. % 94l

4. % OiéH

Question Number : 6 Question Id : 6009298291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Lactose is present in milk in the form of:
Options :

1. % an ionic solution



2. % an emulsion
3. % a true solution
4. % 3 colloid

Question Number : 6 Question Id : 6009298291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AR, gyH P IUAANE I
Options :

1. % 3mafes faeam

2. % UIO¥ (RHE)

3. ¢ 9 faag

4. % BT (PIASS)

Question Number : 7 Question Id : 6009298292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a characteristic of a lyophilic colloid?
Options :

1. # They exhibit strong Tyndall effect

2. % They are reversible

3. # They need special methods for preparation

4. ® Viscosity of sol is similar to the dispersion medium

Question Number : 7 Question Id : 6009298292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 8 Question Id : 6009298293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The particles in true solution will not settle down but the particles in colloidal suspension can settle upon centrifugation.
Options :

1. ¥ High speed

2. % Medium Speed

3. % Low Speed

4. % Low friction

Question Number : 8 Question Id : 6009298293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 3= dld
2. % HYH AT
3. % g A
4. % g gefor

Question Number : 9 Question Id : 6009298294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The toxin produced in a Staphylococcal food intoxication is a:
Options :

1. # Neurotoxin

2. % Aflatoxin

3. ¥ Enterotoxin



4. ¥ Hepatotoxin

Question Number : 9 Question Id : 6009298294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % IRl

Question Number : 10 Question Id : 6009298295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a common machining operation?
Options :

1. % cooling

2. % hammering

3. # Casting

4. ¥ Dirilling

Question Number : 10 Question Id : 6009298295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Riider (i)

2. % gA-are (9R)

3. % s (PIRT)

4. ¢ Yay (fsfem)



Question Number : 11 Question Id : 6009298296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a common process for joining metal parts and general fabrication work?
Options :

1. # Buffing

2. % Polishing

3. % Lapping

4. ¥ Pressing

Question Number : 11 Question Id : 6009298296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 9fth7T (Buffing)

2. % TIRAT (Polishing)

3. % aﬁ"T(Lapping)

4. ¢ 13f&i"T(Pressing)

Question Number : 12 Question Id : 6009298297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a common cause which lead to accidents in a workshop?
Options :

1. # Nature of Project

2. % Size of the tools

3. % Traditional technology

4. ¥ Unsafe working position

Question Number : 12 Question Id : 6009298297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % RASH DI UPpfd

2. % JUBIUN DT HTHR

3. % JRURS doh-id

4. SrgRfErd SrifRufd

Question Number : 13 Question Id : 6009298298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A is a substance that deforms continuously under the application of a shear (tangential) stress no matter how small the shear stress
may be.

Options :

1. ¥ Fluid

2. % Camphor
3. % Solid

4. ¥ Proton

Question Number : 13 Question Id : 6009298298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ &R



Question Number : 14 Question Id : 6009298299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a basic law, which is applicable to any fluid?
Options :

1. * Einstein's theory of relativity

2. ¥ The conservation of mass

3. % Newton's first law of motion

4. % The third law of thermodynamics

Question Number : 14 Question Id : 6009298299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % SIS BT Hredl o1 Rigid

2. ¥ GoOHT W& BT Rigid

3. % oA &I Tid DT uga Had

4. % SENIADT BT dHRT HgH

Question Number : 15 Question Id : 6009298300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In fluid mechanics, a system is defined as a fixed, identifiable quantity of mass; the system boundaries separate the system from the
Options :

1. % context

2. % experiment

3. ® experimenter

4. ¥ surroundings

Question Number : 15 Question Id : 6009298300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % TR (Context)

2. % W(Experiment)

3. % W(Experimenter)
4. ¢ gRa (Surroundings)

Question Number : 16 Question Id : 6009298301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Any valid equation that relates to physical quantities must be dimensionally
Options :

1. ¥ homogeneous
2. # heterogeneous
3. % homologous

4. % accurate

Question Number : 16 Question Id : 6009298301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ FErd

2. % fqurd

3. % HHSId

4. % Y

Question Number : 17 Question Id : 6009298302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
A cow apparently always in heat is called a
Options :

1. ¥ Buller

2. % Bull calf

3. % Bullock

4. % Heifer

Question Number : 17 Question Id : 6009298302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T4, S gHRT T (i) A B ©, & A ST ST g
Options :

1. ¥ dciX (Buller)

2. % dGT (Bull calf)

3. % §d (Bullock)

4. % ST (Heifer)

Question Number : 18 Question Id : 6009298303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is cross breeding?

Options :

1. % A system of breeding between random breeds

2. % A system of breeding between multiple breeds

3. ¥ A system of breeding between two established breeds

4. ¥ A system of insemination through technology

Question Number : 18 Question Id : 6009298303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % gefad A & §rd goi- &I T gurait
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3. ¢ T A el & o USi= b YuTeit
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Question Number : 19 Question Id : 6009298304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Red Sindhi cow originally belongs to:
Options :

1. ¢ Karachi and Hyderabad in Pakistan
2. % Lahore and Punjab in Pakistan

3. % Punjab in India

4. ® Western region of Rajasthan

Question Number : 19 Question Id : 6009298304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T Rieh g &1 Ha = gl
Options :

1. ¢ I & B 3R gERIEIG
2. % U™ & ARR R USTe

3. % YRaAg Usld

4. % ST HT UHH &

Question Number : 20 Question Id : 6009298305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What percentage of dehydration leads to death in animals?
Options :



1. # 4 percent
2. % 8 percent
3. % 12 percent
4. ¥ 14 percent and above

Question Number : 20 Question Id : 6009298305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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2. % g Ufawrd

3. % 12 gfd=rd
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Question Number : 21 Question Id : 6009298306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Technical drawings allows efficient communication among engineers and can be kept as a record of the
Options :

1. % Execution Process

2. % Management Process

3. * Budgeting Process

4. ¥ Planning Process

Question Number : 21 Question Id : 6009298306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % HTaag- Ui
2. % gayH ufhar
3. % goic Ul
4. ¥ OIS Ul

Question Number : 22 Question Id : 6009298307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Engineering Drawing can be classified in four major branches of engineering. Which of the following is not one of them?
Options :

1. % Mechanical Engineering Drawing

2. % Electrical Engineering Drawing

3. ¥ Chemical Engineering Drawing

4. % Civil Engineering Drawing

Question Number : 22 Question Id : 6009298307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % OhHGd oA S

2. % gofacdhd SUlHINRIT ST

3. ¢ BB SR ST

4. % T goltaRaT g

Question Number : 23 Question Id : 6009298308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The drawing sheets are designated by symbols. Which of the following symbols represent the largest size of the drawing sheet?
Options :

1. % A2

2. % Al

3.9 A0

4, % A3

Question Number : 23 Question Id : 6009298308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % A2
2. % Al
3.9 A0
4, % A3

Question Number : 24 Question Id : 6009298309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Method of folding of printed drawing sheets is determined as per:
Options :

1. ¥ BIS SP: 46-2003

2. % BIS: 46-2003

3. % BIS SP: 80-2003

4. % BIS SP: 36-2021

Question Number : 24 Question Id : 6009298309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ BIS SP: 46-2003

2. % BIS: 46-2003

3. % BIS SP: 80-2003

4. % BIS SP: 36-2021

Question Number : 25 Question Id : 6009298310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is considered as the Founder of Microeconomics?
Options :

1. ® Karl Marx



2. # Friedrich Engels
3. ¥ Adam Smith
4. % Vladimir Lenin

Question Number : 25 Question Id : 6009298310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % BTt ATy
2. % Thee T
3. ¢ TeH Iy
4. % TGHR WA

Question Number : 26 Question Id : 6009298311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who wrote the book ‘General Theory of Employment, Interest and Money’ that introduced Macro Economics as a means to analyse economies?
Options :

1. # Adam Smith

2. ¥ John Maynard Keynes

3. % Karl Marx

4. # Friedrich Engels

Question Number : 26 Question Id : 6009298311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % TeH /Y




2. ¢ Wi A8 B
3. % BT AR
4. % ThaRd W

Question Number : 27 Question Id : 6009298312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Marginal Utility (MU) refers to the change in the Total Utility obtained from the consumption of an additional unit of a commodity. It may be
expressed as:

Options :
MU = ATU
1LV AQ
) % AQ= MU x ATU

, x MU=ATUxAQ

4 % MU x ATU x AQ=1

Question Number : 27 Question Id : 6009298312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

vy _ ATU
Le A

, % AQ=MU x ATU



, x MU=ATU x AQ

4 g MU * ATU * AQ =1

Question Number : 28 Question Id : 6009298313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The cardinal utility approach to consumer analysis makes some assumptions. Which of the following is one of them?
Options :

1. % The consumer is emotional

2. % The consumer has unlimited income

3. % Ultility is subtractive

4. ¥ Consumers intent is to get maximum satisfaction from given income

Question Number : 28 Question Id : 6009298313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % JUNFdT 4G BT S

2. % IO P 3T AT B

3. % IUTIAAT HUMTHS

4.« IUUIT BT SRIGT Ve ST F SfHad I U H3-T1 8

Question Number : 29 Question Id : 6009298314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a general-purpose electronic spreadsheet used to organize, calculate, and analyze data.
Options :



1. # MS Word

2. ¥ MS Excel

3. % MS Power Point
4. ¥ MS Outlook

Question Number : 29 Question Id : 6009298314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
|. % THTY TS (MS Word)
2. ¢ THTY TR (MS Excel)
3. % THUY UIaRWlsc (MS Power Point)
4. % THIY AH3<gP (MS Outlook)

Question Number : 30 Question Id : 6009298315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Software design essentially involves three abstract concepts. Select the option that is not an abstract concept:
Options :

1. % Algorithms

2. % Data structures

3. % Data Science

4. % File structures

Question Number : 30 Question Id : 6009298315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % TANRGH




2. % STTLFRR
3. ¢ SeI IRy
4. % B3 TR

Question Number : 31 Question Id : 6009298316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT true for a compiler?

Options :

1. # A compiler is a program that translates a sentence from a source language.
2. # A compiler is a program that translates a sentence into a target language
3. % A compiler is a program that translates a sentence in random functions

4. % A compiler is a program that translates a sentence while preserving its meaning in the process

Question Number : 31 Question Id : 6009298316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 32 Question Id : 6009298317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a component of environmental science?
Options :

1. # Mathematics

2. ¥ Biology



3. % Psychology
4. % Sociology

Question Number : 32 Question Id : 6009298317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % TrOr

2. ¢ Sl fag

3. % HHIGHH

4. % GO faqH

Question Number : 33 Question Id : 6009298318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The stages in the process of soil formation are weathering and:
Options :

1. % Permeation

2. ¥ Pedogenesis

3. # Pedagogical analysis

4. ¥ Porosity of soil formula

Question Number : 33 Question Id : 6009298318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % ORIE (affeem)

2. ¢ TSR

3. % QO (ST ) fagawo



4, % T YA I TReaT

Question Number : 34 Question Id : 6009298319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is NOT a problem caused by dam?
Options :

1. ¢ Increase in rate of evaporation of stored water

2. #® Fragmentation and physical transformation caused by dams
3. # Serious impact on riverine ecosystems

4. ® Social consequences of large dams due to the displacement of people

Question Number : 34 Question Id : 6009298319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o # @ B i §iy 1 goie A YT g1 dTell T SHAT 181 82
Options :

1. ¢ TG oA & arihR0l Dt aX | gfa

2. % it 31 goig ¥ fae 3R Hifas uRad=

3. % 77dl o UIRTRUfAD! d IR HR gwTa

4. % AR & AT o HRUT 8 e} o JrATIoIdh GRUMH

Question Number : 35 Question Id : 6009298320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT an objective with which ‘Man and the Biosphere (MAB) programme’ was launched by UNESCO?
Options :

1. # To conserve representative samples of ecosystems

2. # To provide long-term in-situ conservation of genetic diversity

3. # To promote and facilitate basic and applied research and monitoring

4. ¥ To provide recreational space for human nature interactions



Question Number : 35 Question Id : 6009298320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g & ¥ B 1 ST TAWBT (UNESCO) GRT SRR fofd U ol B3 & Iex4! § ¥ U -Te] 82
Options :

1. % UIRIRYTAD =1 & UM Tl 71 TR&fur

2. % AR fafaerar & Srefaiiae g-3ite TRemr UaH &A1

3. % FOTE 3R SugEd SHY 3R TR &) IgTaT 31 3R AT UgH BT

4.« UM 3R UHTA DI 3109 B1 fdfehar & o ARSIS I U Bl

Question Number : 36 Question Id : 6009298321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Domesticated cattle are usually classified into two major groups namely European and:
Options :

1. # Asian

2. #® Australian

3. ¥ Zebu

4. ® African

Question Number : 36 Question Id : 6009298321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TTelq AATRME 1 SMHAR TR <l Ua g & aiifepd fbam ST 8, Ul R 3R gaR:
Options :

1. % R

2. % 3Rcfer

3. 9q

4. % 3Pl



Question Number : 37 Question Id : 6009298322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

During the two decades between 1951 and 1970, the annual growth rate in milk production was just about:
Options :

1. ¥ 1 percent

2. % 3 percent

3. % 5 percent

4. % 10 percent

Question Number : 37 Question Id : 6009298322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1951 3R 1970 % o9 &P < SD! P AR, G I H AT gig o= THIHT 3ot ot
Options :

1. ¢ 1 gfd=rd

2. % 3 YfcRrd

3. % 5 yfcRrd

4. % 10 gfd=rd

Question Number : 38 Question Id : 6009298323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is to be considered while fixing the price of milk from milk producer’s point of view?
Options :

1. ¥ The cost of milk production

2. ® Plant capacity utilization

3. ¥ The market objective of the processing plant

4. #¥ Consideration of the size of the population that is to be covered by the milk scheme

Question Number : 38 Question Id : 6009298323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

'Y IAGHI P EFDIN A g P! A 97 HId JHY 9 H A g HReb TR fa=R fobar S =nfew?
Options :

1. ¥ GY JdIG DI ANTd

2. % YU DI & DT ST

3. % YIIHIU G4 BT OIR I3

4. % G OIS GRI HAR B! S dTel SRS & 3R R IR

Question Number : 39 Question Id : 6009298324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following equipment will be found at the Milk Collection Centre?
Options :

1. ¥ Atmospheric thermometer

2. % Bottle opener

3. # Gerber centrifuge

4. ¥ Milk sampler

Question Number : 39 Question Id : 6009298324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5Y U8 I% (Hed HoarH dox) & HafiRad & & & a1 Iy e
Options :

1. ® grgHedy YA

2. % Jidd WA ITd1 SUHRU (Sed 3R)

3. % TR YIRS

4. ¢ fiep YUer

Question Number : 40 Question Id : 6009298325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is not a milk-borne disease?
Options :

1. # Tuberculosis

2. % Viral Fever

3. % Brucellosis

4. # Typhoid fever

Question Number : 40 Question Id : 6009298325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FE 8 Qo I g A UaT g aTel SR TR 82

Options :
1. ® qufes
2. ¢ dIRIT §UR
3. % FUAIRN
4. % TEHIES SR
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Question Number : 41 Question Id : 6009298326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The percent range of Micrococci microbial groups present in raw milk is:
Options :

1. % 1-20

2. % 30-99

3. % 115-165

4. % 200-293

Question Number : 41 Question Id : 6009298326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol g T TIo[g HISHhIhIdhTs Yerold THg! &1 Uia=id T e gia 82
Options :

1. * 1-20

2. ¥ 30-99

3. % 115-165

4. % 200-293




Question Number : 42 Question Id : 6009298327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To maintain hygiene in milk production, the temperature of hot water used for sanitization of equipment should be at least:
Options :

1. ¥ 85°C

2. % 77°C

3. % 66 °C

4. % 46 °C

Question Number : 42 Question Id : 6009298327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y UG H WSl 918 X8 & T, SUBRUN o WG 1hR0l o oI SUTNT fohT ST aTel TTH U1 &1 IT9HH HH o & g1

EINY
Options :
1. ¥ 85°C
2. % 77°C
3. % 66 °C
4. % 46 °C

Question Number : 43 Question Id : 6009298328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Heat transfer is defined as energy-in-transit due to temperature:
Options :

1. ¥ Difference

2. % Similarity

3. % Being Static

4. % Dormancy

Question Number : 43 Question Id : 6009298328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

SHT BTN &I dgHE | P BRI URTHA-H-391 & U & GRHIN foar sirar g1
Options :

1. ¢ 3R

2. % HHCT

3. % fRRar

4, % Jytddr

Question Number : 44 Question Id : 6009298329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The fundamental law that governs conduction heat transfer was framed by:
Options :

1. ¥ Ohm

2. ¥ Fourier

3. % Coulomb

4. ® Hooke

Question Number : 44 Question Id : 6009298329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HaTed I RIFIRY FHEfeiad § ¥ o I 7 949 & d8d gidT 82

Options :

Question Number : 45 Question Id : 6009298330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Propagation of thermal radiation takes place in the form of discrete quanta, each quantum having energy of:
Options :

E=

h
2. % %

3 8 EXhXv

v
h=-
4. % &

Question Number : 45 Question Id : 6009298330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

iy 301 T TR 3/ dd ®icl & ©U H 8T 8, Udd HI<H A (g It Afgd gl &

Options :

R E=hv



Question Number : 46 Question Id : 6009298331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Log Mean Temperature Difference (LMTD) is introduced in the design of heat exchangers. It is represented by:

Options :
LMTD = 2=
- 11‘:(1_.—:)
LMTD =225
- En(ﬁj
LMTD — aT-i—_‘.hlen
3 % kn(zE)
ATy —ATA
LMTD =222
Y in(222)

Question Number : 46 Question Id : 6009298331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT 3R ATTHM 3R (LMTD) SSAT 3cR0T & fEoirg & vgad forar oar g 11 Fafeifad fawe 7 3 sad U8} 9 &1 9g99 a1 |

Options :

LMTD = 25245
AH,—AT,
LMTD = %222



LMTD = =22
- n(z2)

LMTD = =27
p v ()

Question Number : 47 Question Id : 6009298332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Milk plasma is the portion of milk which is free from:
Options :

1. ¥ Fat

2. # Carbohydrate

3. ¥ Water

4. % Minerals

Question Number : 47 Question Id : 6009298332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y WISHT Y T a8 HIT € ST (9 ¥ Jod 8T 7
Options :

1.« a1

2. ® FHEERIC

3. % 9ld

4. % Gy

Question Number : 48 Question Id : 6009298333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Proteins are defined as high molecular weight polymers of a-amino acids that are formed by living organisms. Except
for glycine, all these amino acids have:
Options :
1. # D-configuration
2. % K-configuration
3. ¥ L-configuration

4. ® H-configuration

Question Number : 48 Question Id : 6009298333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9T A a-FHAT 7FA #abﬂmmmwﬁmﬁﬁmﬁﬁmm%msﬁﬁmsﬁﬁ
CANT FATT ST &1 TSI FF SIS, 34 T FAGAT FAT A AeF 9rar Jer g

Options :

1. % p-fa=m

2. % K-fo=omg

3. ¢ L=

4. % p-fa=mg

Question Number : 49 Question Id : 6009298334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Absolute Volume is defined as dimensional space occupied by matter.
Options :

1. ¥ Three

2. % Four

3. % Two

4. % One




Question Number : 49 Question Id : 6009298334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fARUg Mg T Uard gRI R Y faria R & U # gRYId fasar Srar 3 |
Options :

1. ¥ A

2. % TR

3.% Q)

4. % TH

Question Number : 50 Question Id : 6009298335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
An adiabatic process is one in which there is of heat between a system and its surroundings.

Options :

1. ¥ No exchange

2. # Homogeneous exchange
3. #¥ Heterogeneous exchange

4. # Reactive exchange

Question Number : 50 Question Id : 6009298335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TG YohH a8 ¢ FRH Ueh o 3R ST STl ITaraRul & e ST Pl BT gl
Options :

1. ¢ fafeg =15t

2. % oIy fafmg

3. # fauirdia fafmg

4. % giafshareres fafmg

Question Number : 51 Question Id : 6009298336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The performance of a heat engine is measured in terms of its thermal efficiency which is the ratio of work output to heat absorbed by engine.
Which of the following representation is true for the given statement?

Options :

n s
Aadl —
1. i

n s B

th —

2. ¢
n Sk
nez2 —
3 Q
W
Nyn+1 =E

Question Number : 51 Question Id : 6009298336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forft ST o1 &1 UGRM ST aTid & & HaH & AT9T SIIdT 8 Sl §oi9 o B 3T3eYC ¥ 3o gRT SaNfd 36T &1 3UTd gl g |
f&T T w2 & fore g & 9 3 1 feuor Wt /2

Options :

1 = —
L% 1n+1 0

.
1th o

W
Nz = E



W
NMns1 = 2

Question Number : 52 Question Id : 6009298337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Electricity is a form of energy which involves flow of electrons in a to do work.
Options :

1. # an insulated circuit

2. % an open circuit

3. % a closed circuit

4. # an open ended circuit

Question Number : 52 Question Id : 6009298337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fagyd, Sl &1 U&= § o &1 a3 & fag T H goae I o1 UdTe M ST g |
Options :

1. % QYT URGY

2. % gaol gRuy

3. ¥ g URGY

4. % G BR dTdd GRUY

Question Number : 53 Question Id : 6009298338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Resistance (R) is directly proportional to the:
Options :

1. # Cross sectional area of wire

2. % Length of wire

3. # Temperature of the conducting wire



4. % Atomic structure of the wire

Question Number : 53 Question Id : 6009298338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfeRYY (R) e & U< Sie @:

Options :

1. % IR & IR HIT (P 19-JIRd) &THd &
2. AR P A9I8 &

3. % el dR &b YA &

4. % R & URHIUGD AT &

Question Number : 54 Question Id : 6009298339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the relative permeability of soft [ron?
Options :

1. ® 6500

2. % 3500

3. % 8000

4. % 12000

Question Number : 54 Question Id : 6009298339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g IR B 10 JrabRied fbd-il Bl 82
Options :

1. ¥ 6500

2. % 3500

3. ¥ 8000

4. % 12000



Question Number : 55 Question Id : 6009298340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the second law of Faraday, if e is the induced EMF in the coil, it is given by:

Options :
t
e S=NX (G4
s N{‘:{’Z_‘;’Lj
2.¢ .
e = T{‘j’z_‘i’l]
3 ® N
N e €{¢z_¢1]
4. % £

Question Number : 55 Question Id : 6009298340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%{@%gﬂ%ﬁﬂﬁ%&‘ﬁﬂ,aﬁewmﬁﬁﬁﬂs‘@w (emﬂ%,a‘ra%’ﬁgﬁfr@awwmmw%:

Options :

“=NX (¢~ 1)

1. =

g = N{‘ﬁz_‘;’i]
2. ¥ t

g = T {‘;’2_‘351]

3. % N



) N —e {‘ﬁz_‘;’i]
4, % t

Question Number : 56 Question Id : 6009298341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The general formula of alpha-amino acids is:
Options :

| % H;NCHRCOH

H;NCHRCOOH
2.¥

3 % H;NCHRCOOH

4% N;CHRCOOH

Question Number : 56 Question Id : 6009298341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
31TPHT- ST S T WA T T BIelT 372
Options :

| % H;NCHRCOH

H;NCHRCOOH
2.¥

3 % H;NCHRCOOH



4% N;CHRCOOH

Question Number : 57 Question Id : 6009298342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Nucleotides have three characteristic components. Which of the following is one of the components?
Options :

1. # Methionine

2. # Hexose sugar

3. # Carbon

4. ¥ Phosphate

Question Number : 57 Question Id : 6009298342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hiaaierss | ofiF fafky e gid & | Fe & 9 314 Ul a8 U falkivdr g2
Options :

1. % By

2. % QIS QDRI

3. % BIe

4. ¥ BT

Question Number : 58 Question Id : 6009298343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With the exception of a few catalytic RNA molecules, or ribozymes, the vast majority of enzymes are:
Options :

1. % Carbohydrates

2. ¥ Proteins

3. % Fats



4. % Minerals

Question Number : 58 Question Id : 6009298343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FS IORD AR.TAT. (RNA) SU[37, T AT oI 3fudTe! & T, ifiew e tomgd 9 g &
Options :

1. % PERIRgC

2. ¢ Ui

3. % 94l

4. % Fiof gerd

Question Number : 59 Question Id : 6009298344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are three general mechanisms which describe multi-substrate enzyme system. Which of the following is one of them?
Options :

1. # Inert mechanism

2. # Dynamic mechanism

3. % Static mechanism

4. ¥ Ping Pong Mechanism

Question Number : 59 Question Id : 6009298344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T § o Hed-gste e UolTsH WuTTel &1 auiH 3d g | F9 # ¥ HH-91 378 A U& 82
Options :

1. % f[Afspy o (Inert mechanism)

2. % TfARMA 93 (Dynamic mechanism)

3. % e dF (Static mechanism)

4. ¢ OO da (Ping Pong Mechanism)




Question Number : 60 Question Id : 6009298345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Milk is concentrated using heat energy. Based on the methods of treatment of milk, which state of milk is achieved through the concentration
using heat energy?

Options :

1. ¥ Khoya
2. % Cheese
3. % Paneer

4. % Jce-cream

Question Number : 60 Question Id : 6009298345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ @RI

2. % BHI

3. % TAR

4. % 3MTSHHIH
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Question Number : 61 Question Id : 6009298346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the percent of protein in the chemical composition of whole milk curds (Dahi)?
Options :

1. % 1.4-1.8

2.9 3234

3. % 4.6-4.9

4, % 82-84

Question Number : 61 Question Id : 6009298346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YUl g8 & 1 el DI IS TR H WA &1 ufawrd faram giar g2

Options :




1. * 14-1.8
2.¥32-34
3. % 46-49
4, % 82-8.4

Question Number : 62 Question Id : 6009298347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The legal standard established by the Food Safety and Standards Authority of India for Paneer is:
Options :

1. ¥ FSSR-2011

2. ® FSSR-2013

3. ¥ FSSR-2015

4. % FSSR-2016

Question Number : 62 Question Id : 6009298347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR & 3FAGH & oI ST AFS & F-1 82
Options :

1. ¥ FSSR-2011

2. % FSSR-2013

3. # FSSR-2015

4. % FSSR-2016

Question Number : 63 Question Id : 6009298348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who patented the Hand-cranked ice cream freezer in the 1840’s?
Options :

1. % Marco Polo

2. ®# Jacob Fussel



3. ¥ Nancy Johnson
4. % Carl von Linde

Question Number : 63 Question Id : 6009298348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1840 O GRTP H gS-hds SHTSUh T ThIoR P Ucc fhem UTd fasa U
Options :

1. % DI aral

2. % g Had

3. ¢ A0 S

4. % PHTdl 9 s

Question Number : 64 Question Id : 6009298349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The first ice cream cone was produced by Italo Marchiony in the year:
Options :

1. ¥ 1896

2. % 1900

3. % 1919

4. % 1920

Question Number : 64 Question Id : 6009298349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gerel AT < 4 3 fobd v § Ul SMSHehiA BT I Iiad fobar Ur?
Options :

1. ¥ 1896

2. %1900

3. % 1919



4. % 1920

Question Number : 65 Question Id : 6009298350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sodium alginate is a polysaccharide of guluronic acid and mannuronic acid. How is it represented?
Options :

1. ¥ E401

2. % E407

3. * E410

4. % E412

Question Number : 65 Question Id : 6009298350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ E401

2. % E407

3. % E410

4. % E412

Question Number : 66 Question Id : 6009298351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the water content in percentage of a cream that contains 30 percent fat?
Options :

1. # 20 percent

2. % 34 percent

3. # 44 percent

4. ¥ 64 percent



Question Number : 66 Question Id : 6009298351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

30 UTCIRTA 991 o h1H o Ula=id & STet & T 18Il 67
Options :

1. % 20 gfd=rd

2. % 34 Yfd=rd

3. % 44 gfawrd

4. ¥ 64 UfaRrd

Question Number : 67 Question Id : 6009298352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following CANNOT be classified as a power-driven cream separator?
Options :

1. ¥ Gravity cream separator

2. % Semi-closed or semi-hermetic separator

3. # Closed bowl or hermetic separator

4. % Self-desludging separator

Question Number : 67 Question Id : 6009298352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & 9 ford wfda-anfera wiw Ayt & &9 & aifera e faran o 9T 82
Options :

1. ¢ U913 fauTid

2. % IS a1 AHl-gH e fauTsis

3. % IS 913 U1 gH e fauTeid

4. % Y-S AN fauST®

Question Number : 68 Question Id : 6009298353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

To reduce the multiplication of micro-organisms and to get low bacterial count in milk and milk products, raw milk should be immediately
maintained at or below:

Options :
1. % 0°C
2. % 1°C
3. 5°C
4. % 7°C

Question Number : 68 Question Id : 6009298353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y&H Sidl & T[UM 1 HH B dUT Y 3R g8 JedTal H (49 Siary] Turies Ured i & fog, e gy &l gid g1 2l A F ay
TR ST TG AR T

Options :

1. % 0°C

2. % 1°C

3. 5°C

4. % 7°C

Question Number : 69 Question Id : 6009298354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Capacity of refrigeration system is expressed as
Options :

1. ¥ Ton of refrigeration

2. # Kilogram of refrigeration

3. % Quintal of refrigeration

4. # Kilo liter of refrigeration

Question Number : 69 Question Id : 6009298354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

yfia womeh ot &vdr & ¥ H Had [par AT gl
Options :

1. ¢ URiiqT 1 ed

2. % Ufiq &1 fedm

3. % Uiidq &1 fved

4. % TR &1 fopal otex

Question Number : 70 Question Id : 6009298355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The amount of energy used by a compressor is affected by some factors. Which of the following is NOT one of the factors?
Options :

1. % Type of compressor

2. ¥ Moisture in the atmosphere

3. ®# Compressor load

4. ® Temperature difference of the system

Question Number : 70 Question Id : 6009298355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP HUR R SUTNT B AT Soll bt A & BRI YU gl 3 | FEfeiad & ¥ &1F-91 b SR 81 82
Options :

1. % HUW B YHR

2. ¢ qIdraRor § 4t

3. % HUR S

4. % R &1 dIHM 3R

Question Number : 71 Question Id : 6009298356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
By which of the following equations can Co-efficient of Performance (COP) be represented?
Options :

| & C.O.P. =refrigeration effect kI’h

C.0.F =refrigeration effect kf/h
Work of compression kJ/h

2.¥

C.0.F =refrigeration ef fect k/h
Work of compression K]

C.0.F =refrigeration ef fect [/h
Work of compression h

Question Number : 71 Question Id : 6009298356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Te=i 0T (C.0.P,) B Rafeiad & & fog geie=ur gRT gwifan S Tebdr 82

Options :

| GLefdL(c.0.P.) = TR T K] /h

Il 31 dl. (C.0.P.) = U=iidH UHME k] /h
Huted &1 HR kj/h

2.¢



Tl 3141, (C.0.P.) = Uiidd UYHM k/h
- YUsH BT DA k]

. 31141, (c.0.P.) = U=iidd UHME |/h
Huted &1 &H h

Question Number : 72 Question Id : 6009298357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The word ‘cheese’ is derived from a word.
Options :

1. ®¥ German

2. ® French

3. % Latin

4. * Greek

Question Number : 72 Question Id : 6009298357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e 2eg B Teg T g fohaT T B |
Options :

1. % STH

2. % b9

3. ¢ dfeq

4. % GAMI

Question Number : 73 Question Id : 6009298358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT the chief factor responsible to determine what kind of cheese would be produced as final output?
Options :

1. ¥ Similarity of the quality of milk

2. % Degree of souring and type of souring organisms added

3. # Temperature of renneting and subsequent cooking or scalding of the curd in the whey

4. % Milling and salting of the curd before putting in the hoop or mould

Question Number : 73 Question Id : 6009298358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 T § HH 1 98 T HRS 7ol & ol I8 MU HRA & oy foTiieR g1 ¢ fb sifaw Sdred & 0 § {69 THR & TR/ &1
JdTe foar S

Options :

1. ¢ QY & 0T DI JH

2. % WA 3! fEU SR WA & forg =nfira fvw U gemshial &1 UhR

3. % AT BT AYAM 3R 3P a1 7Y W a1 B HIHT 3R ThiceT Bl dTaHH

4. % ZUY OIS ¥ 8o I Ugd gol o Bl ar wrfed

Question Number : 74 Question Id : 6009298359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The India District Co-operative Milk Producers' Union was registered as a response to exploitation of marginal milk producers by traders or
agents at Anand on December 14 in the year:

Options :
1. ¥ 1946
2. % 1964
3. % 1984
4. % 1999

Question Number : 74 Question Id : 6009298359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

3{Tuie # TaTEl a1 Tolel gRT AHid g TG o Y01 & Ui U Uidfhal & U # 9 1 9 frg av # 14 fGTeR 1 yRd foren
DRI Y ITGeh HY DI USchuT fobdT 7T T2

Options :

1. ¥ 1946

2. % 1964

3. % 1984

4. % 1999

Question Number : 75 Question Id : 6009298360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The National Dairy Development Board (NDDB) was created in the year:
Options :

1. %* 1949

2. % 1994

3. % 1956

4. ¥ 1965

Question Number : 75 Question Id : 6009298360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PTG ST f4h I SIS (NDDB) &1 713 T a # fobam 7 U
Options :

1. * 1949

2. % 1994

3. # 1956

4. % 1965

Question Number : 76 Question Id : 6009298361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following equation was suggested by Lamb to determine the latent heat value of food?
Options :

I.=335 (kT kgl
1. #

. L=my %335 (kg!)

2.
. oL = my %335 (I kg?)
4. % L = my x 335

Question Number : 76 Question Id : 6009298361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS & e T ST & A1 &1 Auid o3 & forg o g1 o & 9 v wefianRor &1 gia foam wam am

Options :
L =335 (kT kg'!)
1. ®

5 % L=m, * 335 (kg!)

, » L= mw x335 (I k')

4 % L = my = 335

Question Number : 77 Question Id : 6009298362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is a suitable location for the establishment of a Dairy plant?
Options :

1. # Close to cattle sheds or source of milk

2. % Preferably near grazing pastures or forests.

3. ¥ Away from environmentally polluted areas that can contaminate food

4. ® Near state transport depots.

Question Number : 77 Question Id : 6009298362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST YO 1 R & forg g & @ 19 91 ®IH Iugad 82
Options :

1. % UY RIS YT GY & Hld & DiId

2. % 3R G b ol IRI5 P R T S & ASIGID

3. ¢ TR Ugivd & 9 g Sl Yo &I givd &2 Idhd &
4. % Y YRag {$Ul & U

Question Number : 78 Question Id : 6009298363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Nuts and Oil seeds contain:

Options :

1. ¢ Vitamin E

2. ® Vitamin D

3. # Vitamin B12

4. ® Vitamin C

Question Number : 78 Question Id : 6009298363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
¢ 3R sfisq e ® fafaRad o & a1 U S g2

Options :



1. ¢ faaifia B
2. % faarfa D
3. % e B12
4. % faefi= ¢

Question Number : 79 Question Id : 6009298364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Protein digested is expressed in terms of ‘digestibility coefficient’. Which of the following expressions represents the phenomenon?
Options :

% Digestibility Coefficient= Protein intake (g) — protein lost in digestion (g) = 25

Digestibility Coefficient= Protein intake (g) — protein lost in digestion (g) * 50
2. %

3 % Digestibility Coefficient= Protein intake (g) — protein lost in digestion (g) = 75

L Digestibility Coefficient= Protein intake (g) — protein lost in digestion (g) * 100

Question Number : 79 Question Id : 6009298364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T T U & 'UTeH T[0Te & =4 § Sifiegad fovar oftdr | | Fuferiad & § & 3t siftyeafad 53 ufkget & gt 82

Options :

9T 0T = 3FART f3har T/ 9= (g) - 9= & R 9= gt (g) x 25

1. #

2‘3-5 e |

39T BT T 9 (g) - I & 2R 9T '@ (g) * 50



Tt 3[0TeR = 39T {3 1 9 (g) - = & SR Wk @i (g) x 75

3. %

9Tl 0T = 3ART fahar T/ m 91 (g) - 9= & ERT 91 @it (g) x 100

4.9

Question Number : 80 Question Id : 6009298365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Condensed and dried milks are manufactured in commercial plants as per the legal standards prescribed by:
Options :

1. ¥ FSSAI and BIS

2. % FICCI and BIS

3. ¥ AGMARK and FSSAI

4. # FoSCoS and AGMARK

Question Number : 80 Question Id : 6009298365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

OIS 4= § Hufd SR b gY BT SdIe H8 & gRT FHUiRd ST AF®! & S8R 61 STl 5
Options :

1. ¥ FSSA 3R BIS

2. % FSSI 3R BIS

3. # AGMARK 3{R BIS

4. ® FoSCoS 3R AGMARK
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Question Number : 81 Question Id : 6009298366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The quality of raw milk to be used should be judged with respect to which one of the following criteria.
Options :

1. # The quality criteria appropriate for traditional technology

2. % The geographical region from where milk has been sourced

3. ¥ Relationship of milk quality with finished product quality

4. % Requirement of similar quality criteria for each end use



Question Number : 81 Question Id : 6009298366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

He g B TUTaT B 3fich & forg e B q H-31 tep Aud s T 82
Options :

1. % (ORI B! UGN & 1Y G 1 [0l T e

2. % IAIG B JUS 3R UfhT &l TR G B! UTa BT JHTd

3. ¢ URUR® W] & forg Iuged Turad AMes

4. % U 3ifd ST & T S{eT I[Ura<l AFGS Dl A= ehd]

Question Number : 82 Question Id : 6009298367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Percentage of bacteria which can be removed by Microfiltration technique is:
Options :

1. ¥ 99.6 percent

2. % 85 percent

3. # 63 percent

4. ® 23 percent

Question Number : 82 Question Id : 6009298367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR BT a8 Ufawrd for U thee ¥ ddb-1dh gIRT 8¢l o Yohdl §, 98 &
Options :

1. ¥ 99.6 Ufa=Id
2. % 85 Ufard
3. % 63 Ufaxrd
4. % 23 gfaerd

Question Number : 83 Question Id : 6009298368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Skimmed milk is produced by separation of from milk in dairy processing.
Options :

1. % Water

2. % Cream

3. # Casein

4. % Cholesterol

Question Number : 83 Question Id : 6009298368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TRIHRU H g ¥ D S ISP [T g BT ITG bl STl 5 |
Options :

1. % gl

2. ¥ Hdls

3. % By

4. % DI

~

Question Number : 84 Question Id : 6009298369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The maximum permitted fat content in skimmed milk powder is:
Options :

1. * 26 percent

2. % 5 percent

3. ¥ 1.5 percent

4. % 1 percent

Question Number : 84 Question Id : 6009298369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



e H e ardex ¥ ifdad srHd a9 Il fha gidl 82
Options :

1. ® 26 Ufaerd

Question Number : 85 Question Id : 6009298370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following nutrients is lacking in the Meat Food Group?
Options :

1. # Phosphorous

2. # Iron

3. ¥ Dietary Fibre

4. % B-Complex vitamins

Question Number : 85 Question Id : 6009298370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i WTe 9g (Hie s o) # Fafeiad iive adl # § o ue o w8
Options :

1. % BIEPRY

2. % Agdd

3. ¢ SERIF =M

4. % dl-plrciey faerfaq

Question Number : 86 Question Id : 6009298371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following factor is not important for evaporation process?



Options :

1. # Concentration

2. # Foaming

3. ¥ Heat insensitivity

4. % Scale formation

Question Number : 86 Question Id : 6009298371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 & 9 SH 91 SRS e Uithan & i Ayl 781 57
Options :

1. % Hbgul

2. % BIHT (Foaming)

3. ¢ IS SrdGTRIted

4. % Il T3 (Scale formation)

Question Number : 87 Question Id : 6009298372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Based on the nature of the heat transfer surface, which of the following cannot be classified as evaporators?
Options :

1. # Tubular surfaces with natural or forced circulation

2. % Hyperbolic surfaces with artificial circulation

3. # Flat heating surfaces

4. % Stationary cylindrical surfaces with scraped surface evaporator

Question Number : 87 Question Id : 6009298372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

W1 SR g B UPHd & YR WR, FUfafad & § {5y &1 TardiReR (evaporators) & ¥4 & qifferd -Ta1 fram o Wevdr 82

Options :




1. % YT a1 Yonfed UREERUI & A1 SgaeR dde!

2. ¢ HEY URTERO & 1Y fdRafcd (GremRalcid) ddal
3. % FUIE (RIC) AT Fdgl

4. % TP fHT U TdE TATURR &b T1Y fRR I THR Fdg!

Question Number : 88 Question Id : 6009298373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a property of Falling film Evaporators?
Options :

1. # Less residence time

2. ¥ More fouling problem

3. % More overall heat transfer coefficient

4. % Higher vacuum is possible

Question Number : 88 Question Id : 6009298373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5 7§ S 91 Wi fhed SIURTH &1 U7 ] 57
Options :

1. % ®H N g7y

2. ¢ 3H{UPH BITCHT I AT

3. % 3 JHY IH XA YT UTich

4. % IR fafq Gua g

Question Number : 89 Question Id : 6009298374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a technical function of packaging?
Options :

1. ¥ Communication



2. % Display
3. ¥ Protection

4. % Promotion

Question Number : 89 Question Id : 6009298374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

75 T A HH-I7 UBTORT BT 1! B 52
Options :

1. # TdIG (communication)

2. % W(display)

3. % Y& (Protection)

4. % {43 (Promotion)

Question Number : 90 Question Id : 6009298375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The information on a food package conveys relevant data to consumers. What data does the package convey?
Options :

1. #* Ethics of the production process

2. # The texture of the product

3. % How the product tastes

4. ¥ Cooking instructions to be followed

Question Number : 90 Question Id : 6009298375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS Udhol IR & T8 TFBHRI SuHaarst & e URifes ST aardt 1 9 & 4 &F 9 IR & S 82
Options :

1. % Idre Ufehar BT A
2. % JUS &I I1AC




3. # 3diq Pl Wlq

4. ¢ WM TS & forg foo1 a2l &1 ura fasar sHm anfgu

Question Number : 91 Question Id : 6009298376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Jelen (1985) maintains that primary packages should have certain characteristics to facilitate the sale of products. Which of the following is NOT
one of them?

Options :

1. # Sanitary

2. # Non-toxic
3. # Lightweight
4. ¥ Simple

Question Number : 91 Question Id : 6009298376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST (1985) BT e § [ Il o fopt &1 gfaurse s & forg urufie 9w & o2 faxivand gt wnfiie ) fHufefad fasea 7 9
B I ITH TP a1 52

Options :

1. % W=

2. % IR-fqwrad

3. ¥ gohl

4, ¢ HHY

Question Number : 92 Question Id : 6009298377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Costing is the techniques and processes of ascertaining:
Options :

1. ¥ costs

2. % Loss



3. # Profit

4. ¥ Revenue

Question Number : 92 Question Id : 6009298377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PR, 19 BT UdT T BT dob-ildh 3R Ufhar g
Options :

1. ¥ ANTd

2. % GIH

3. % A

4. % oRg

Question Number : 93 Question Id : 6009298378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are various advantages derived by the management from a good system of costing. Which of the following is one of them?
Options :

1. # Cost accounting helps in eliminating competition

2. ® Cost accounting helps in estimating the future inventory

3. # Cost accounting helps in making monopolistic estimates of market

4. ¥ Cost accounting aids price fixation

Question Number : 93 Question Id : 6009298378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT &1 Th 3B JuTTelt ¥, TeeH gRT e it amv gid ¢ | Fefafea # 9 e-ar 398 S Us 82
Options :

1. % QNI g UiRTdT &1 THT B | AGG dal g

2. % AT AGWih Hia™ &1 I BT STAM T H 7EE dRal |

3. % QNI ARATh SR & THNUBR STHM T H HEE HRl g |




4. ¥ ANTA araih Jod (YR & T81-® g |

Question Number : 94 Question Id : 6009298379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The subject OPERATIONS RESEARCH is a branch of
Options :

1. ¥ Mathematics

2. % Physics

3. # Literature

4. % Account keeping

Question Number : 94 Question Id : 6009298379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT ST (AT R P U YRAT B |
Options :

1. ¢ 01

2. % ifae fagm

3. % HIfgd

4. % QT UTaH

Question Number : 95 Question Id : 6009298380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a property of linear programming model?
Options :

1. ¢ The relationship between variables and constraints must be binary
2. % The model must have an objective function

3. # The model must have structural constraints

4. % The model must have non-negativity constraint



Question Number : 95 Question Id : 6009298380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o & @ -1 X WrnfEi Aige &1 el 82
Options :

1. ¢ TR AR Frersfi & g e fgamumt g A
2. % Higd H U 3eviiacd HavH g diigyT

3. % AI8d H YIS F19Td 81 dlie T

4. % Higd H TR-ASRIAGAT 9141 841 TMRY

Question Number : 96 Question Id : 6009298381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The teaching of extension education at undergraduate level at the College of Agriculture, Calcutta University started in the year:
Options :

1. % 1940

2.9 1950

3. % 1960

4. % 1970

Question Number : 96 Question Id : 6009298381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DY Dlcte], Heidhl fayfaeTerd 8 Hdd Wk IR AR e o1 e Iu T Y& g ol
Options :

1. * 1940

2. ¥ 1950

3. % 1960

4. % 1970




Question Number : 97 Question Id : 6009298382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the word Extension, “ex” meaning “out”; and, “tensio” meaning “stretching” has its roots in which of the following languages?
Options :

1. ¥ Latin

2. % German

3. ¥ Sanskrit

4. % French

Question Number : 97 Question Id : 6009298382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Qe QER:I%T\’FT (Extension) ﬁ, nex " T 3 33 %; 33{ "tensio " Pl 3‘[&% "@\ﬁm", UMD Hdl (wé_') fafeRad yerelf & 9 feg A %‘?
Options :

1. ¢ Qe

2. % S

3. % HIhd

4. % Thg

Question Number : 98 Question Id : 6009298383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a feature of extension education?

Options :

1. % The teacher starts with theory and works up to practical.

2. # Students study subjects.

3. % Students need to adapt themselves to the fixed curriculum offered.

4. ¥ Programmes are flexible and based on needs and expressed desires of people

Question Number : 98 Question Id : 6009298383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Rrg & A - R e &8 ke 22

Options :

1. % e Agifaes fRem I IR= a1 § 3R R Ui vel R 1 axar g

2. % BT AWl BT 1= B 5|

3. % BT I FId TRAIdd Uredshd & oIt Je &1 3@ iad B usal g

4. ¥ HRIHH Al BId & AR AN B STl 3R T ST TR SR 8Id 5

Question Number : 99 Question Id : 6009298384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where did Gandhiji establish the Sevagram Ashram?
Options :

1. # Sunderban

2. ¥ Wardha

3. ¥ Marthandam

4. ® Kolkata

Question Number : 99 Question Id : 6009298384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TiEfTSi = AATH SHTYH BT R fobd RIH W bt i
Options :

1. % Yead

2. ¢ auf

3. ® HRAUSH

4. % HIADIdl

Question Number : 100 Question Id : 6009298385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



When was Statistical Quality Control developed?
Options :

1. % During World War I

2. % During World War 11

3. # During the Cold War

4. # During the French Revolution

Question Number : 100 Question Id : 6009298385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RS 1Y U =101 el faah Ry fovar mam ur

Options :
1. % Uy fay g
2. ¢ fgdta fay g
3. % Qdgg
4. % Tog pifd
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Group Number : 6
Group Id : 600929261
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Number of Questions : 20
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Question Number : 101 Question Id : 6009298386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following parameters is taken into consideration while fixing Legal Standards?
Options :

1. % Adulterants

2. # Traditional technology

3. % Bacteriological quality

4. ¥ Pricing strategy

Question Number : 101 Question Id : 6009298386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST AFD B a9 HRd J07 5 T ¥ {9 AMds &1 e & 97 71l 82
Options :

1. # firefrae

2. % TN Bt SrgHIdl

3.+ SiiaTUges ra

4. % gog MR



Question Number : 102 Question Id : 6009298387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The term ‘Biotechnology’ was coined by:
Options :

1. # Gregor Mendel

2. ¥ Karl Ereky

3. # Franklyn Stahl

4. % James Watson

Question Number : 102 Question Id : 6009298387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SR eg fohg Tfaurfed fobam um
Options :

1. % PTRUASA

2. ¢ BHId Wbl

3. % Thahfor Ted

4. % SR qICH

Question Number : 103 Question Id : 6009298388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The central dogma of life was first visualized by Francis Crick during the year 1958 which refers to the fact that hereditary information normally
travels in:

Options :

1. ¥ one direction only

2. % Two directions only
3. # Three directions only
4. % Multi directions

Question Number : 103 Question Id : 6009298388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Sfia &1 Hata Rigid (Jcat ST 3T A3W) Bt Hed-T Ty Ugd iR fhd 3 a9 1958 & SR Pt 2t S 39 9 &Y Yefiid Hrdt & fb
G STFGRI ATHR U ¥ Y THR & I e 6

Options :

1. ¥ &Had T fe=m |

2. % Pad ol fe=mefi v

3. % ohad qi farmen o

4. % gga 4t fazmsi 4

Question Number : 104 Question Id : 6009298389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The thermal cycler also known as machine or DNA amplifier is an equipment which is used for the amplification of a gene.
Options :

1. % WBC

2. % PCR

3. % RBC

4. % RNC

Question Number : 104 Question Id : 6009298389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T SRR o AR 1 SLTA.E. (DNA) THAHRR & A8 I f ST 91T §, Tl SRV § orIeh S¥aard graeel 9+
UM F1 ST S S & Had= & o fasan sran g1

Options :

1. % WBC

2. ¥ PCR

3. % RBC

4. % RNC




Question Number : 105 Question Id : 6009298390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following enzymes is NOT important in the Dairy industry?
Options :

1. # Rennet

2. # Proteases

3. ¥ Amylases

4. % Lipases

Question Number : 105 Question Id : 6009298390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST S A e & 9 S1-91 USTeH Heayy T8l 82
Options :

1. % e

2. % JifeTey

3. ¥ THIET

4. % ZUSA

Question Number : 106 Question Id : 6009298391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Starter cultures are or fungal strains either pure or mixed, used to initiate a fermentation process.
Options :

1. # Protozoa

2. % Viral

3. ¥ Bacterial

4. % Algal

Question Number : 106 Question Id : 6009298391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

WIER Hee, I HaH W 8Id 7, T A1 A1 G I1 T3 81 &, orert sxawTa fouae ufshan IR & & fore fvar S g |
Options :

1. % TIcroiian

2. % fauro

3. ¥ Starudy

4. % qrd

Question Number : 107 Question Id : 6009298392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Dairy processing unit operations mainly involve few processes. Select the odd one which does NOT form the part of the process?
Options :

1. # heating

2. ¥ fermenting

3. % cooling

4. ® separating

Question Number : 107 Question Id : 6009298392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TR ShTS TaTaH B T I $© Uihard QM gt & | 39 favH fased o1 wom &3 S 39 ufshan &1 iR 98t 9-a1 82
Options :

1. % 94

2. ¢ fpuaq

3. % QideH

4. % GUFH

Question Number : 108 Question Id : 6009298393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



There are seven original SI units for basic physical quantities. Select the option that is not an SI base unit.
Options :

1. ®¥ Metre

2. ¥ Litre

3. # Kilogram

4. #® Candela

Question Number : 108 Question Id : 6009298393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfardt 1ifde afRamor & fore O1d ga s1s@1Rar | | Fafafad # 9 9 fawed g+ St S1 YR S&Ts T8l 8|
Options :

1. ® HiR

2. ¥ AR

3. % fdum

4. % H=al

Question Number : 109 Question Id : 6009298394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The measurement systems and the instruments may be classified based upon the functions they perform. Select the option that does NOT form a
part of them?

Options :

1. # Indicating Function
2. % Recording Function
3. # Signal Processing

4. ¥ Releasing Function

Question Number : 109 Question Id : 6009298394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIY JUTTet 3R SUHRUN Bl 390 GRT [hT S-aTe BTl & YR TR FiGhd a1 ST Gl § | 39 [aded &1 99+ B Sl 3961 U g8l



TRl 82

Options :

1. % Jbfas srd
2. # Ropifen s
3. % Ryud g
4. ¢ RS &l

Question Number : 110 Question Id : 6009298395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The conclusion of the Uruguay Round of Multilateral Trade Negotiations in Marrakech led to the establishment of the WTO on

Options :

1. ¥ 1 January 1995
2. % 1 January 1996
3. % 1 January 1997
4. % 1 January 1998

Question Number : 110 Question Id : 6009298395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR § 9gUefi IR ardf & %79 GR & JHI W, ! 3% FATIR ST (WTO) BT RITTT G5 |
Options :

1. ¢ 1 SFd%1 1995
2. % | SFAR 1996
3. % | SHaR] 1997
4. % | SFARY 1998

Question Number : 111 Question Id : 6009298396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“The assembly of all planned and systematic actions necessary to provide adequate confidence that a product, process, or service will satisfy
given quality requirements.” The above is the definition of:



Options :

1. ¥ AGMARK

2. ¥ 1SO

3. * TRADE MARK
4. % ISIMARK

Question Number : 111 Question Id : 6009298396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ot IaTe, Ufshan a1 aT &1 vaft fAy U $-A & e siaxae gt Ao 3iR Fafeid Haf &l ThAAUT &1 T8 T0raxT &1
STARIHATSN BT R HATN" HUR & 715 TRHTT Faferied § & frey defid g2

Options :

1. % WMHPH (AGMARK)

2. ¢ 313.TY.37. (I1SO)

3. % YR HI® (TRADE MARK)

4. % 3MT3.TY.3MS. HIH (ISI MARK)

Question Number : 112 Question Id : 6009298397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following cannot be said to be the key challenges for speedy and effective implementation of Food Safety and Standard Act 20067
Options :

1. # Awareness creation

2. ¥ Market Standardization

3. # Infrastructure creation

4. % Building research & development capacity

Question Number : 112 Question Id : 6009298397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT GRET 3R 7S SAATH 2006 & @R 3R I Sraf-ag & fore g # § o193 v Ayl g 78 At o Tt 82



Options :

1. % SRl goir

2. ¢ SR HHDHIHRUT

3. % TYRYA TR &1 FHior

4. % YT ST MR fab emya

Question Number : 113 Question Id : 6009298398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is NOT a main function of financial management?
Options :

1. # Investment decision

2. # Raising funds

3. ¥ Creation of physical assets

4. ® Liquidity decisions

Question Number : 113 Question Id : 6009298398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 & § ®F 1 fa<ii yey= &1 a0 &1 761 82
Options :

1. % Moz o1 ol

2. % Yol ThAT

3. ¢ Yifcres "t &1 Ao

4, % TR B AUy

Question Number : 114 Question Id : 6009298399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which among the following is the goal of financial management?
Options :



1. ¥ Profit Maximization
2. ¥ Managing Board of Management
3. # Conducting market survey

4. ® Keeping client Records

Question Number : 114 Question Id : 6009298399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o & - o veiem w1 aga 82
Options :

1. ¥ QY DI SHTUHTH AT T o ST
2. % Y& SIS BT Uy Bl

3. % TR A& BT

4. % Y P Rl TG

Question Number : 115 Question Id : 6009298400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Special journal or subsidiary books are of 7 types. Which of the following is one of them?
Options :

1. ® Cash reconciliation

2. ® Balance Sheet

3. # Profit and loss account

4. ¥ Sales book

Question Number : 115 Question Id : 6009298400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IRy S a1 GerIs §igdi 7 UbR Bl gl g | g & ¥ -3 3798 3V T 72

Options :
1. # dhq g



Question Number : 116 Question Id : 6009298401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a part of the concept of marketing?
Options :

1. # Production concept

2. % Consumer concept

3. # Selling concept

4. % Product concept

Question Number : 116 Question Id : 6009298401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5 3 B O [9uuE 3T SiauRon &1 fgwm el 52
Options :

1. ® 3IdIq YR

2. ¢ JUHTKIT SaYRUN

3. % foept sfayrRom

4. % fqUUM 3fayrRoT

Question Number : 117 Question Id : 6009298402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a Transactional function of marketing?
Options :

1. ® Transportation storage and physical handling of goods

2. ® Selecting a distribution channel



3. ¥ Personal selling
4. ® Product financing by providing capital.

Question Number : 117 Question Id : 6009298402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 & T o1 91 fauuE o1 U d1-37 Idath ord g2
Options :

1. % AT o1 yRdgd HSRU 3R Hifds Jared

2. % fIqU1 A9 BT T HRAT

3. ¢ qufaae fae!

4. % Goll &M $HRh IIE BT faaqarsor

Question Number : 118 Question Id : 6009298403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The consumer buying process has four steps. Which of the following is one of them?
Options :

1. ¥ Information search and evaluation

2. ® Problem creation

3. # Finding the source of the produce

4. ® Product manufacturing ethics

Question Number : 118 Question Id : 6009298403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I TR B UfFAT F IR WU SId & | A I DT ITH A TH 82

Options :

1. ¢ GEAT QIS 3R T
2. % IR (|

3. % 3OS b HId BT Udl T



4. % I fAmfor Afdesdarn

Question Number : 119 Question Id : 6009298404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is directed towards a relatively large, heterogeneous and anonymous audience.
Options :
1. # Group Communication
2. ¥ Mass Communication
3. # Interpersonal Communication

4. # Organizational Communication

Question Number : 119 Question Id : 6009298404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

_ THIMUTHA 99, AT SR oW el 3t SR AR
Options :

1. ¥ gHg YR (Group Communication)

2. ¥ O Y9R (Mass Communication)

3. % JRIURS JAR (Interpersonal Communication)

4. % FISTHP IR (Organizational Communication)

Question Number : 120 Question Id : 6009298405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There is certain purpose of communication. Which of the following is one of them?
Options :

1. # To perform

2. % To self analyse

3. % To inform

4. % To analyse the society



Question Number : 120 Question Id : 6009298405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR BT AT R e R A P ITH A TH 22

Options :

1. % fasrfed &
2. % T fawawor S

3. ¥ gfad &Rl

4. % O BT fIRAT0T HIAT
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Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 6009298406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘A force of one newton produces an acceleration of on an object of mass 1 kg.
Options :

1.« 1 m/s?

) ® 2m/s

4. % 4m/s

Question Number : 121 Question Id : 6009298406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uch YZd Pl ddd, 1 kg KUHI dlﬂr‘IWd%gtR DI AU 3UF Ol'NdI%I
Options :

L« 1 m/s?
) % 2 m/s?
3 % 3 m/s?

4 % 4 m/s?



Question Number : 122 Question Id : 6009298407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Kelvin and Celsius scales are related by which of the following function?
Options :

| % T(K)=T (°C)

5« T(K)=T (°C) + 273.15
; x TE)=T+73.15

4 % T(K)+273.15=T (°C)

Question Number : 122 Question Id : 6009298407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hiear 3R VT AU H (Fhd) Moy B Y & 9§ oo 9 g1 gaiferd 82
Options :

| % TE)=T(0)

7 ¢ TIK)=T (°C)+273.15

3 ® HE)y=T+73.15

4 % T(K)+273.15=T (°C)



Question Number : 123 Question Id : 6009298408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The term ‘unit operations’ was established by Professor Arthur D Little of the Massachusetts Institute of Technology, in the year:
Options :

1. % 1913

2. % 1914

3.¥ 1915

4. % 1916

Question Number : 123 Question Id : 6009298408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe TR e &1 TITIHT HATGHCY SXEIege 3 CaIarst & TheR 3R 3. fafed 3 adf AR
Options :

1. % 1913

2. % 1914

3.¥ 1915

4. % 1916

Question Number : 124 Question Id : 6009298409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Kinematics is

Options :

1. ¢ the study of forces and the displacement of bodies, without addressing the cause of movement
2. #* astudy of motion and forces on a body which is in motion

3. ¥ abranch of mechanics which deals with the study of forces on a body which is at rest

4. % astudy of the basic laws for the displacement of a particle

Question Number : 124 Question Id : 6009298409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

JS M foe (dfeay |

Options :
1.¢

T4 & SRU & JAd P fomr, sof iR el & JwmmT &1 sieggs &
2. ®
Tfaeid e wR Tfd 3R 9 &1 e §

3. % GifAP! B Th U1 ¢ O U FRR FebT TR o7 I 5l b ST I Taiferd @
4. % TH BV & IR & fore gfard) ot &1 i g

Question Number : 125 Question Id : 6009298410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Lami’s Theorem is represented mathematically by
Options :

P Q

| % Sina Sinf

P Q
, % Sina ~ Sinp =
P Q R

3.#’5111& Sinf  Siny

P Ry
~ Sinf  Siny

Question Number : 125 Question Id : 6009298410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
ATH & UHY 1 I U ¥ el g I3 gR1 foan o @:
Options :
P Q
1 ® Sina Sinf

P
==L _§R
) ® Sino Sinp

e . R R
3 o Sino Sinp Siny

Q R

4 ® - Sinp Siny

Question Number : 126 Question Id : 6009298411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The process that breaks down the intermolecular bonds of starch molecules in the presence of water and heat, allowing the hydrogen bonding
sites (the hydroxyl hydrogen and oxygen) to engage more water is called:

Options :

1. # Maillard reaction

2. % Caramelization

3. ¥ Gelatinization of starch

4. ¥ Retrogradation of starch

Question Number : 126 Question Id : 6009298411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Aqrs i

2. ® HRAAZGOIYHA

3. ¢ WH &l rafeAgoRM

4. % TTd ot ufamfErar

Question Number : 127 Question Id : 6009298412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Dextrins are a group of carbohydrates produced by the hydrolysis of starch.
Options :

1. ¥ low-molecular-weight

2. % High-molecular-weight

3. % low-matter-weight

4. # high-matter-weight

Question Number : 127 Question Id : 6009298412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SeicH, T & grEsieed gRI (A a1 PIETEIRSC BT T GHE B

Options :

1. ¢ 199 3MTUTfdeh-HR
2. % I JAUdDH-UR
3. % R gag-UR

4. ®# 3o gH-HR

Question Number : 128 Question Id : 6009298413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which one of the following vegetables is actually a Fungi?



Options :

1. # Beetroot

2. # Sea Lettuce
3. % Mushroom
4. # Onion

Question Number : 128 Question Id : 6009298413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 & 4 DI Il oot add & TP Hab 67
Options :

1. ® ghex

2. % Tl degd

3. % HRR™H

4. % U9

Question Number : 129 Question Id : 6009298414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Yeasts may be viewed as being fungi in contrast to molds.
Options :

1. ¥ unicellular

2. % bicellular

3. * multicellular

4. % complex cell

Question Number : 129 Question Id : 6009298414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i & faudia (@i<re #) de &t HdPH g & ©T H W1 o Jhall 3|

Options :




1. ¢ THBHIRDI
2. # fgaifRmg
3. % SEHIRBI
4. % Jfed HIRAT

Question Number : 130 Question Id : 6009298415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some microbes belonging to the Genus Candida can form:
Options :

1. ¥ Chlamydospores

2. % Ascospores

3. # Conidiospores

4. ® Sporangiospores

Question Number : 130 Question Id : 6009298415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FeeTdn A TERd gz geaoiid ST R Ihd g
Options :

1. ¢ aﬁm@@ﬁ(cmamydospores)

2. ® W(Aseospores)

3. % HiAfgnaRy (Conidiospores)

4. % TORRTSNRT (Sporangiospores)

Question Number : 131 Question Id : 6009298416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Debaromyces, one of the most prevalent veast genera in dairy products can grow at a aw as low as 0.65 and salt
concentration of;

Options :



1. * 10%
2. % 15%
3. % 20%
4. ¥ 24%

Question Number : 131 Question Id : 6009298416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SASHS, ST 3cUEr A FEE A’ 90 A 9T AT F 9 A A UF §, I 7gAadH 0.65 &

aw d& doT @3 @1 o=Gor Jgar R s g T @ &
Options :

1. % 10 gfawrd

2. % 15 gfad

3. % 20 gfa=rd

4. ¥ 24 gfaerd

Question Number : 132 Question Id : 6009298417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Food-borne molds are filamentous fungi that grow in the form of that spreads rapidly and may cover several inches of area in a very
short period.

Options :

1. ¥ tangled mass

2. ® Straight unbranched filaments
3. #® Zig-zag lines

4. % Circular mass

Question Number : 132 Question Id : 6009298417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

QeI Aics, ey Haw gid & Sl & U H I IA § 3R doil I Had § IR 9gd HH I H F3 59 &8 B HaR




IR Fhd g |

Options :

1. ¥ I g W (T9E)
2. % Y 3= o

3. % fomT-onT YEal

4. % JAIDR R ()

Question Number : 133 Question Id : 6009298418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following CANNOT be considered as an advantage of a good plant layout?

Options :

1. # It reduces the effort in normal material handling of a worker.

2. % Tt reduces cost of handling by direct labour and hence increases productivity per man hour

3. # It reduces indirect manufacturing cost by decreasing spoilage under difficult handling situation.

4. ¥ 1t reduces the mechanical effort.

Question Number : 133 Question Id : 6009298418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 T T 53 Te 3 U3 A-3M13< &1 ATH el AT o Yl &7

Options :

1. % I U DHIAIR & ERT AU § ST H T aTel T &1 HH &l §

2. % g U 9H ¥ e &1 N & HH Rl § 3R 39forg ufa sufad g Iargemd & 3fg gkl 8
3. % g gfehd gefon T & TWigasl & HH B el [t anTd &) & ol o

4. ¥ Tg Ui UMY &) HH BT &

Question Number : 134 Question Id : 6009298419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is an intrinsic sensory attribute of food products?



Options :
1. ¥ Color
2. # Price
3. % Origin

4. % Advertisement

Question Number : 134 Question Id : 6009298419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & @ PR W ITEl B U AR T AR 82
Options :

1. ¥ 0

2. % HIAd

3. % Hd

4. % oo

Question Number : 135 Question Id : 6009298420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A psychophysical method to estimate the absolute intensity of a stimulus or a categorical judgment based on an observer's experience is called:
Options :

1. % Affective Response

2. % Acceptance

3. ¥ Absolute Judgment

4. % Acuity

Question Number : 135 Question Id : 6009298420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gﬂwﬁwmmwuﬁw$ﬁw$wwmw Suitag o &1 SgH @M & o T TA- e fafd &1 o wet ofra
?

Options :



1. % Yrarde gfafehar (Affective Response)
2. % W(Acceptance)

3. ¢ FRug fAofg (Absolute Judgment)

4, % & (Acuity)

Question Number : 136 Question Id : 6009298421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Deciding in advance what is to be done, when it is to be done and how it is to be done is called:
Options :

1. # Staffing

2. % Planning

3. # Directing

4. % Controlling

Question Number : 136 Question Id : 6009298421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4R & g Fvka o1 fob ot fopan ST ©, el foba ST © 3R 39 61 fohdT ST 8, 39 =119 ¥ ST STl &
Options :

1. % I (Staffing)

2. ¢ WA (Planning)

3. % W(Directing)

4, % W(Controlling)

Question Number : 137 Question Id : 6009298422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In a manufacturing unit, the production manager must have sound knowledge of and their characteristics.
Options :

1. ¥ materials



2. % the market
3. # products

4. * labour available

Question Number : 137 Question Id : 6009298422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fafmiur sors H, Iare Usyd (UsaR HAoR) &I 3R 3 IO &1 T I ST AR T
Options :

1. ¢ gl

2. % dNIR

3. % JadEl

4, % Uy HH

Question Number : 138 Question Id : 6009298423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the 1940s, the central role of ATP in biological systems was described by:
Options :

1. #* Sir Hans Adolf Krebs

2. # Eduard Buchner

3. ¥ Fritz Albert Lipmann

4. ¥ Watson and Crick

Question Number : 138 Question Id : 6009298423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1940 ¥, Sifqes yonferl & Tt . (ATP) B dad Uit &1 quiH fafaRad & I feem fovar um
Options :

1. % W g TSI oy

2. % TEds g}




3. ¢ flheH 3fec forgaa
4. % gegH 3R fpap

Question Number : 139 Question Id : 6009298424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The number of carbon atoms present in the simple sugar triose is:
Options :

1. % 1

2. %2

3.3

4. % 4

Question Number : 139 Question Id : 6009298424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR I TN YW (triose) T ASG BTa- URATISH BT T g gl
Options :

1. % 1

2. %2

3.3

4. % 4

Question Number : 140 Question Id : 6009298425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the hydroxyl group on the penultimate carbon is on the right-hand side of the carbon chain when the aldehyde or ketone group is written at the
top of the formula, it belongs to the D family and if on the left-hand side, it belongs to:

Options :

1. ¥ L family
2. % R family
3. # K family



4. % A family

Question Number : 140 Question Id : 6009298425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g Teee HIa WR B SIaNd Tg HIa- §Ad & aTe 3R 81 8, 919 UCSgI8S AT Hici Wg &I I & MY R feRar Arar g, s b
uRaR § Tefird giaT § 3R afe a1 g1 @t SR gia 8, o U8 Ay ¥ et giar 3

Options :

1. ¥ LURER

2. % RURAR

3. % K URAR

4. % ATORAR
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Question Number : 141 Question Id : 6009298426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The furanose ring structure is formed by interaction of carbonyl carbon with the hydroxyl group attached to the carbon.
Options :

1. ¥ fourth carbon

2. % fifth carbon

3. * sixth carbon

4. % cighth carbon

Question Number : 141 Question Id : 6009298426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIEd Bl Dt T IS e eiad Iqg ¥ Sififehar & uRumaRaR=Y BRI fT TRaH a9t 8 |

Options :

1. ¢ A BIE
2. % Uied HIa
3. % TS Pl
4. % 3134 Pl

Question Number : 142 Question Id : 6009298427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Erwinia is a genus of the family Enterobacteriaceae bacteria containing mostly pathogens.
Options :



1. ¥ Plant
2. % Soil

3. % Water
4. ¥ Animal

Question Number : 142 Question Id : 6009298427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WRiafar, TR Sfary] e o1 931 7, e e w0 @ AMToHS B B
Options :

1. ¥ Uiqy

2. % Hal

3. % 9d

4. % SHdR

Question Number : 143 Question Id : 6009298428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which Gram-positive, catalase-positive bacterium commonly found in soil is also known as hay bacillus or grass bacillus.
Options :

1. # Bacillus cereus

2. % Bacillus subtilis

3. % Carnobacterium

4. # Corynebacterium

Question Number : 143 Question Id : 6009298428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o1 § AR TR UTY o aTd 9 # ¥ forg Im-uiioifed, dreaw-uitoifed Siiam] ol § SfRyerd a1 U afed & =0 § off ST S g |
Options :

1. % e Hivog




2. ¢ SR gafeferg
3. % HHGGRINTH
4. % HRIMSFINTH

Question Number : 144 Question Id : 6009298429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which spp. forms septate mycelia with conidiophores and large brown conidia and causes brown to black rots of fruits, apples, and figs.
Options :

1. # Trichothecium

2. % Geotrichum

3. ¥ Alternaria

4. % Rhizopus

Question Number : 144 Question Id : 6009298429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafaRad o 9 oH-3t i TP i s & Od SIRfSA®R SR 98 auT 1Y SIS 81d § auT S Bal, 39 3R ik R Fdt
Yedl BT HRU I & |

Options :

1. % W@m (Trichothecium)

2. % ﬁrﬁm?ﬁm (Geotrichum)

3. ¢ 3R (Alternaria)

4. % JZoNYY (Rhizopus)

Question Number : 145 Question Id : 6009298430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Under favourable conditions, in a laboratory, a growing bacterial population at regular intervals.
Options :

1. # Remains stagnant



2. ¥ Doubles
3. ® Triples
4. # Multiplies slowly

Question Number : 145 Question Id : 6009298430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR H, e URTRITTIT H, T Sl Siary] SieeT, FHafid sidRie iR
Options :

1. % RRIEAT

2. ¢ R BT ST §

3. % A ST o @

4. % SRR UHE BT R

Question Number : 146 Question Id : 6009298431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a class I additive?
Options :

1. # Benzoic acid and its salts

2. # Sulphurous acid and its salts

3. # Nisin

4. ¥ Honey

Question Number : 146 Question Id : 6009298431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 & 4 D1H-91 U l-1 A &2
Options :

1. % Sl 3 SR I Aqul

2. % FRRY 3 3R 3P AqUl



3. % s
4. ¥ TGS

Question Number : 147 Question Id : 6009298432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In HPLC Method, Benzoic acid is extracted and separated by liquid chromatography (LC) on C18 column, detected by ultra violet absorbance at
, and quantitated by standard calibration plot.

Options :

1. # 200 nm
2. % 230 nm
3. % 250 nm
4. % 270 nm

Question Number : 147 Question Id : 6009298432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qalﬂqa;ﬂ (HPLC)%fErﬁ é@wmﬁcwwnmmﬁﬁamuﬁ(m)mﬁwﬁaawmﬁmw% = 0w
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Options :

1. # 200 nm

2. % 230 nm

3. % 250 nm

4. % 270 nm

Question Number : 148 Question Id : 6009298433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The use of salicylic acid as a preservative is:
Options :

1. * permitted

2. % not permitted



3. # permitted in special cases
4. # hazardous

Question Number : 148 Question Id : 6009298433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

URRE® & =0 H Sferarsioas TS &1 3w gIaTg |
Options :

1. # SffHd

2. ¥ 3FHd el

3. % faRIy Oroe o 3iad

4. % GARATH

Question Number : 149 Question Id : 6009298434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Substances to be analysed by Gas Chromatography must be volatile and must be thermally stable below:
Options :

1. ¥ 350 Degree C

2. % 375 Degree C

3. % 400 Degree C

4. % 450 Degree C

Question Number : 149 Question Id : 6009298434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TG AT gRT fa=ayur fby oM arel uardf $ifRR (@diersd) g1 =fe T ¢k Ty & =i ddig 30 9 fRR g =1

Options :

1.+ 350 f&dli C
2. % 375f8Ui C
3. % 400 f&l C



4. % 450 f&hic

Question Number : 150 Question Id : 6009298435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some of the mycotoxins regularly analyzed in food samples include:
Options :

1. ¥ Aflatoxin B1

2. % Aflatoxin C

3. % Aflatoxin D

4. # Aflatoxin K

Question Number : 150 Question Id : 6009298435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HioH & A1 § fFafid ©u 9 fazayu fey 9 a1 $@ Aeie e 3 2fid gidr &
Options :

1. ¥ TWRICITR Bl

2. % THRICIa C

3. % TRICIR D

4. % TORICHOT K
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Question Number : 151 Question Id : 6009298436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following sentence has been divided into parts. One of them may contain an error. Select the part that contains the error from the given
options. If you don’t find any error, mark ‘No error’ as your answer.

He went to all the drugstores / but he did not got / the medicine.
Options :

1. * He went to all the drugstores

2. % but he did not got

3. #* the medicine

4. % No error

Question Number : 151 Question Id : 6009298436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The following sentence has been divided into parts. One of them may contain an error. Select the part that contains the error from the given
options. If you don’t find any error, mark ‘No error’ as your answer.

He went to all the drugstores / but he did not got / the medicine.
Options :

1. # He went to all the drugstores

2. ¥ but he did not got

3. # the medicine

4. % No error

Question Number : 152 Question Id : 6009298437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following sentence has been divided into parts. One of them may contain an error. Select the part that contains the error from the given
options. If you don’t find any error, mark ‘No error’ as your answer.

All flights on this route / has been diverted / to Mumbai.
Options :

1. % All flights on this route

2. ¥ has been diverted

3. # to Mumbai

4. % No error

Question Number : 152 Question Id : 6009298437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following sentence has been divided into parts. One of them may contain an error. Select the part that contains the error from the given
options. If you don’t find any error, mark ‘No error’ as your answer.

All flights on this route / has been diverted / to Mumbai.
Options :

1. # All flights on this route

2. % has been diverted

3. ¥ to Mumbai



4. % No error

Question Number : 153 Question Id : 6009298438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following sentence has been divided into parts. One of them may contain an error. Select the part that contains the error from the given
options. If you don’t find any error, mark ‘No error’ as your answer.

The town / where I was born / had a big grain market.
Options :

1. % The town

2. % where I was born

3. %* had a big grain market

4. ¥ No error

Question Number : 153 Question Id : 6009298438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following sentence has been divided into parts. One of them may contain an error. Select the part that contains the error from the given
options. If you don’t find any error, mark ‘No error’ as your answer.

The town / where I was born / had a big grain market.
Options :

1. # The town

2. # where I was born

3. * had a big grain market

4. ¥ No error

Question Number : 154 Question Id : 6009298439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following sentence has been divided into parts. One of them may contain an error. Select the part that contains the error from the given
options. If you don’t find any error, mark ‘No error’ as your answer.



There is / a bus stop / by the end of the road.
Options :

1. # There is

2. # abus stop

3. % by the end of the road

4. % No error

Question Number : 154 Question Id : 6009298439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following sentence has been divided into parts. One of them may contain an error. Select the part that contains the error from the given
options. If you don’t find any error, mark ‘No error’ as your answer.

There is / a bus stop / by the end of the road.
Options :

1. # There is

2. % abus stop

3. ¥ by the end of the road

4. % No error

Question Number : 155 Question Id : 6009298440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following sentence has been divided into parts. One of them may contain an error. Select the part that contains the error from the given
options. If you don’t find any error, mark ‘No error’ as your answer.

The company is looking / for someone which has / an MBA degree.
Options :

1. # The company is looking

2. ¥ for someone which has

3. % an MBA degree

4. % No error



Question Number : 155 Question Id : 6009298440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following sentence has been divided into parts. One of them may contain an error. Select the part that contains the error from the given
options. If you don’t find any error, mark ‘No error’ as your answer.

The company is looking / for someone which has / an MBA degree.
Options :

1. * The company is looking

2. ¥ for someone which has

3. ¥ an MBA degree

4. % No error

Question Number : 156 Question Id : 6009298441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option that can substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
substitution required’.

You played in the afternoon for one hour, have you?
Options :

1. # did you

2. % didn’t you

3. ® haven’t you

4. ® no substitution required

Question Number : 156 Question Id : 6009298441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option that can substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
substitution required’.

You played in the afternoon for one hour, have you?



Options :

1. # did you

2. ¥ didn’t you
3. % haven’t you

4. # no substitution required

Question Number : 157 Question Id : 6009298442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option that can substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
substitution required’.

I had never heard a more funnier story before.
Options :

1. ¥ a funnier story

2. % the most funny

3. % the funniest

4. % No substitution required

Question Number : 157 Question Id : 6009298442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option that can substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
substitution required’.

I had never heard a more funnier story before.
Options :

1. ¥ a funnier story

2. % the most funny

3. % the funniest

4. # No substitution required

Question Number : 158 Question Id : 6009298443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option that can substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
substitution required’.

We have been staying in this house since September 2010.
Options :

1. # for

2. # from

3. % from about

4. ¥ No substitution required

Question Number : 158 Question Id : 6009298443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option that can substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
substitution required’.

We have been staying in this house since September 2010.
Options :

1. # for

2. # from

3. % from about

4. ¥ No substitution required

Question Number : 159 Question Id : 6009298444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option that can substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
substitution required’.

They were tired as they had work on the night.
Options :

1. #* have worked across



2. % had worked through
3. * had worked on

4. % No substitution required

Question Number : 159 Question Id : 6009298444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option that can substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
substitution required’.

They were tired as they had work on the night.
Options :

1. ® have worked across

2. % had worked through

3. # had worked on

4. % No substitution required

Question Number : 160 Question Id : 6009298445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option that can substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
substitution required’.

Except Neha and Kuhu, there were three more children in the park.
Options :

1. % Beside

2. ¥ Besides

3. # Without

4. % No substitution required

Question Number : 160 Question Id : 6009298445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate option that can substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
substitution required’.

Except Neha and Kuhu, there were three more children in the park.
Options :

1. # Beside

2. ¥ Besides

3. % Without

4. % No substitution required

Question Number : 161 Question Id : 6009298446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option that can substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
substitution required’.

People got down from the train no sooner the train stopped.
Options :

1. ¥ as soon as

2. # while

3. % till

4. # no substitution required

Question Number : 161 Question Id : 6009298446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option that can substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
substitution required’.

People got down from the train no sooner the train stopped.
Options :

1. ¥ as soon as

2. # while

3. % till



4. ® no substitution required

Question Number : 162 Question Id : 6009298447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option that can substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
substitution required’.

The captain in addition to twenty sailors were on the boat when it capsized.
Options :

1. % The captain along with twenty sailors
2. % The captain with twenty sailors
3. % Neither the captain nor the sailors

4. % No substitution required

Question Number : 162 Question Id : 6009298447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option that can substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
substitution required’.

The captain in addition to twenty sailors were on the boat when it capsized.

Options :

1. # The captain along with twenty sailors
2. % The captain with twenty sailors

3. % Neither the captain nor the sailors

4. % No substitution required

Question Number : 163 Question Id : 6009298448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option that can substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
substitution required’.



We couldn’t help to laugh when he told a funny incident.
Options :

1. # laugh

2. ¥ laughing

3. # to laughing

4. # No substitution required

Question Number : 163 Question Id : 6009298448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option that can substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
substitution required’.

We couldn’t help to laugh when he told a funny incident.
Options :

1. # laugh

2. ¥ laughing

3. # to laughing

4. % No substitution required

Question Number : 164 Question Id : 6009298449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blanks.

She paused at gate for a while and then rang door bell.
Options :

1. % a; the

2. % the; the

3. % the;a

4. # the; no word required



Question Number : 164 Question Id : 6009298449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blanks.

She paused at gate for a while and then rang door bell.
Options :

1. # a; the

2. ¥ the; the

3. % the;a

4. # the; no word required

Question Number : 165 Question Id : 6009298450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

I will return your book as soon as I have finished it.
Options :

1. # read

2. % toread

3. ¥ reading

4. % reads

Question Number : 165 Question Id : 6009298450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

I will return your book as soon as I have finished it.
Options :
1. # read

2. % toread



3. ¥ reading

4. % reads

Question Number : 166 Question Id : 6009298451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The elephant leg got caught in a trap, trumpeted loudly.
Options :

1. # who

2. # which

3. ¥ whose

4, % whom

Question Number : 166 Question Id : 6009298451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The elephant leg got caught in a trap, trumpeted loudly.
Options :

1. % who

2. ®% which

3. ¥ whose

4. % whom

Question Number : 167 Question Id : 6009298452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

students have shown interest in playing chess.



Options :
1. % Any
2. ¥ Many
3. ¥ Much
4. % Little

Question Number : 167 Question Id : 6009298452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

students have shown interest in playing chess.
Options :
1. % Any
2. ¥ Many
3. % Much
4. % Little

Question Number : 168 Question Id : 6009298453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Before giving him more money, find out he wants it.
Options :
1. # what
2. ¥ why
3. # how
4. % that

Question Number : 168 Question Id : 6009298453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate option to fill in the blank.

Before giving him more money, find out he wants it.
Options :
1. % what
2. ¥ why
3. * how
4. % that

Question Number : 169 Question Id : 6009298454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence are given below in jumbled order. Arrange the parts in the correct order to form a meaningful sentence.

A. the court has asked the government

B. and also questioned

C. to submit a report

D. why the case was not filed against the hospital

Options :

1. % ABCD
2. % ADCB
3.¥ ACBD
4. % ABDC

Question Number : 169 Question Id : 6009298454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence are given below in jumbled order. Arrange the parts in the correct order to form a meaningful sentence.

A. the court has asked the government

B. and also questioned

C. to submit a report

D. why the case was not filed against the hospital
Options :

1. * ABCD



2. % ADCB
3.¥ ACBD
4. % ABDC

Question Number : 170 Question Id : 6009298455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence are given below in jumbled order. Arrange the parts in the correct order to form a meaningful sentence.

A. has been busted

B. and selling them as used cars
C. from different areas of Delhi
D. a gang that was stealing cars

Options :

1. ¥ DBCA
2. ¥ DCBA
3. ¥ DABC
4. % DBAC

Question Number : 170 Question Id : 6009298455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence are given below in jumbled order. Arrange the parts in the correct order to form a meaningful sentence.

A. has been busted

B. and selling them as used cars
C. from different areas of Delhi
D. a gang that was stealing cars

Options :

1. ¥ DBCA
2. ¥ DCBA
3. ¥ DABC
4. ¥ DBAC
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Question Number : 171 Question Id : 6009298456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence are given below in jumbled order. Arrange the parts in the correct order to form a meaningful sentence.

A. who was confirmed positive
B. LNJP Hospital has created a special ward



C. for isolating a 33 year old man
D. for the South African variant of the novel corona virus

Options :

1. ¥ BCAD
2. % BDCA
3. ¥ BADC
4. ¥ BDAC

Question Number : 171 Question Id : 6009298456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence are given below in jumbled order. Arrange the parts in the correct order to form a meaningful sentence.

A. who was confirmed positive

B. LNJP Hospital has created a special ward

C. for isolating a 33 year old man

D. for the South African variant of the novel corona virus

Options :

1. ¥ BCAD
2. % BDCA
3. ¥ BADC
4. ¥ BDAC

Question Number : 172 Question Id : 6009298457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence are given below in jumbled order. Arrange the parts in the correct order to form a meaningful sentence.

A. against symptomatic Covid-19 patients

B. the Oxford —AstraZeneca vaccine

C. according to the World Health Organisation
D. has an efficacy of 63.09 per cent

Options :

1. # ACDB



2. ¥ CBDA
3. ¥ BDCA
4. % CADB

Question Number : 172 Question Id : 6009298457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence are given below in jumbled order. Arrange the parts in the correct order to form a meaningful sentence.

A. against symptomatic Covid-19 patients

B. the Oxford —AstraZeneca vaccine

C. according to the World Health Organisation
D. has an efficacy of 63.09 per cent

Options :

1. % ACDB
2. ¥ CBDA
3. % BDCA
4. % CADB

Question Number : 173 Question Id : 6009298458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the correct order to form a meaningful and coherent
paragraph.

A. The first successful video calling was done in the 1930s.

B. People first got the idea of video calling in the late 1890s but they did not know how to do it.

C. A US company made a Television-Phone in 1955 on which people could see each other when they called.
D. But the video was very bad.

Options :

1. ¥ ABCD
2. ¥ BADC
3. % BCDA
4. % CDBA



Question Number : 173 Question Id : 6009298458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the correct order to form a meaningful and coherent
paragraph.

A. The first successful video calling was done in the 1930s.

B. People first got the idea of video calling in the late 1890s but they did not know how to do it.

C. A US company made a Television-Phone in 1955 on which people could see each other when they called.
D. But the video was very bad.

Options :

1. * ABCD
2. ¥ BADC
3. % BCDA
4. % CDBA

Question Number : 174 Question Id : 6009298459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the correct order to form a meaningful and coherent
paragraph.

A. Did you know that it is possible to build a boat entirely from cardboard?

B. They used around 300 old boxes that they found in bins near their workshop and bits of wood to clamp on a little outboard — almost
everything was from waste packaging, including their flag which they made from bubble wrap.

C. Over ten days, two savvy recyclers from England named Harry and Charlie turned their dream of a cardboard houseboat into a reality.
D. They successfully launched the boat into the Thames and sailed down the river to London to launch a design festival.

Options :

1. ¥ CDBA
2. % BDCA
3. % ABDC
4. ¥ ACBD

Question Number : 174 Question Id : 6009298459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the correct order to form a meaningful and coherent
paragraph.

A. Did you know that it is possible to build a boat entirely from cardboard?

B. They used around 300 old boxes that they found in bins near their workshop and bits of wood to clamp on a little outboard — almost
everything was from waste packaging, including their flag which they made from bubble wrap.

C. Over ten days, two savvy recyclers from England named Harry and Charlie turned their dream of a cardboard houseboat into a reality.
D. They successfully launched the boat into the Thames and sailed down the river to London to launch a design festival.

Options :

1. * CDBA
2. % BDCA
3. % ABDC
4. % ACBD

Question Number : 175 Question Id : 6009298460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Agile
Options :

1. #* Quiet

2. ¥ Energetic
3. * Angry

4. % Stiff

Question Number : 175 Question Id : 6009298460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Agile



Options :

1. % Quiet

2. ¥ Energetic
3. % Angry

4, #® Stiff

Question Number : 176 Question Id : 6009298461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate ANTONYM of the given word.

Irksome
Options :

1. ¥ Pleasing
2. % Tireless
3. ¥ Annoying
4. ® Forgiving

Question Number : 176 Question Id : 6009298461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate ANTONYM of the given word.

Irksome
Options :

1. ¥ Pleasing
2. # Tireless
3. ¥ Annoying
4. # Forgiving

Question Number : 177 Question Id : 6009298462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate ANTONYM of the given word.

Scrap
Options :

1. # Abandon
2. # Discard
3. * Drop

4. ¥ Reinstate

Question Number : 177 Question Id : 6009298462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate ANTONYM of the given word.

Scrap
Options :

1. ¥ Abandon
2. # Discard
3. % Drop

4. ¥ Reinstate

Question Number : 178 Question Id : 6009298463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Impudent
Options :

1. ¥ Rude
2. # Polite
3. % Modest
4. # Careful



Question Number : 178 Question Id : 6009298463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Impudent
Options :

1. ¥ Rude
2. # Polite
3. % Modest
4, # Careful

Question Number : 179 Question Id : 6009298464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Endorse
Options :

1. ¥ Approve
2. % Impose
3. % Award
4. # Endure

Question Number : 179 Question Id : 6009298464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Endorse
Options :
1. ¥ Approve

2. % Impose



3. #* Award
4. % Endure

Question Number : 180 Question Id : 6009298465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate ANTONYM of the given word.

Curtail
Options :

1. * Whisper
2. % Lengthen
3. ¥ Restrain

4. % Express

Question Number : 180 Question Id : 6009298465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate ANTONYM of the given word.

Curtail
Options :

1. % Whisper
2. ¥ Lengthen
3. # Restrain

4. % Express

Question Number : 181 Question Id : 6009298466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the INCORRECTLY spelt word.
Options :

1. # Media



2. ® Meditate
3. ¥ Mediam
4, % Meddle

Question Number : 181 Question Id : 6009298466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the INCORRECTLY spelt word.
Options :

1. # Media

2. % Meditate

3. % Mediam

4. ® Meddle

Question Number : 182 Question Id : 6009298467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate phrase to fill in the blank.

It was difficult for the villagers to the fire by themselves.
Options :

1. # put down

2. % put out

3. % putup

4. % put off

Question Number : 182 Question Id : 6009298467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate phrase to fill in the blank.

It was difficult for the villagers to the fire by themselves.
Options :



1. % put down
2. % put out
3. ® putup
4. % put off

Question Number : 183 Question Id : 6009298468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate phrase to fill in the blank.

The police had road-blocks on the national highway.
Options :

1. # setin

2. % setout

3. % set about

4. ¥ setup

Question Number : 183 Question Id : 6009298468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate phrase to fill in the blank.

The police had road-blocks on the national highway.
Options :

1. # setin

2. % setout

3. # set about

4. ¥ setup

Question Number : 184 Question Id : 6009298469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate phrase to fill in the blank.



I would not like to the details of this issue.
Options :

1. # go forth

2. % go into

3. % go down with

4. % g0 out of

Question Number : 184 Question Id : 6009298469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate phrase to fill in the blank.

I would not like to the details of this issue.
Options :

1. # go forth

2. ¥ go into

3. % go down with

4. % g0 out of

Question Number : 185 Question Id : 6009298470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

To get wind of

Options :

1. ¥ To learn something about a secret
2. % To be clear about something

3. #* To enjoy a nice weather

4. % To gain something unfairly

Question Number : 185 Question Id : 6009298470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

To get wind of

Options :

1. ¥ To learn something about a secret
2. % To be clear about something

3. # To enjoy a nice weather

4. # To gain something unfairly

Question Number : 186 Question Id : 6009298471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Head and shoulders above
Options :

1. # To be odd

2. % To be far superior

3. % To be much taller

4. # To be extremely jealous

Question Number : 186 Question Id : 6009298471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Head and shoulders above
Options :

1. # To be odd

2. % To be far superior

3. % To be much taller



4. * To be extremely jealous

Question Number : 187 Question Id : 6009298472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that can be used as a one-word substitute for the given group of words.

A group of puppies
Options :

1. # Gang

2. % Herd

3. % Pack

4. ¢ Litter

Question Number : 187 Question Id : 6009298472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that can be used as a one-word substitute for the given group of words.

A group of puppies
Options :

1. ® Gang

2. % Herd

3. % Pack

4. ¢ Litter

Question Number : 188 Question Id : 6009298473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that can be used as a one-word substitute for the given group of words.

A place where sheep are kept
Options :



1. # Den
2. # Coop
3. # Kennel

4. ¥ Pen

Question Number : 188 Question Id : 6009298473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that can be used as a one-word substitute for the given group of words.

A place where sheep are kept
Options :

1. #* Den

2. % Coop

3. # Kennel

4. ¥ Pen

Question Number : 189 Question Id : 6009298474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that can be used as a one-word substitute for the given group of words.Select the most appropriate word for the given group of
words.

The sound made by crickets
Options :

1. #* Croak

2. % Chirp

3. % Caw

4. * Cluck

Question Number : 189 Question Id : 6009298474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the option that can be used as a one-word substitute for the given group of words.Select the most appropriate word for the given group of
words.

The sound made by crickets
Options :

1. # Croak

2. ¥ Chirp

3. # Caw

4. % Cluck

Question Number : 190 Question Id : 6009298475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the INCORRECTLY spelt word.
Options :

1. ¥ Scrupolous

2. % Populous

3. % Numerous

4. % Humorous

Question Number : 190 Question Id : 6009298475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the INCORRECTLY spelt word.
Options :

1. ¥ Scrupolous

2. # Populous

3. ¥ Numerous

4. % Humorous
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Question Number : 191 Question Id : 6009298476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the INCORRECTLY spelt word.
Options :

1. * Furious

2. % Anxious

3. % Vigourious

4. * Precious



Question Number : 191 Question Id : 6009298476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the INCORRECTLY spelt word.
Options :

1. # Furious

2. # Anxious

3. % Vigourious

4. % Precious

Question Number : 192 Question Id : 6009298477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following sentence has been divided into parts. One of them may contain an error. Select the part that contains the error from the given
options. If you don’t find any error, mark ‘No error’ as your answer.

Don't promise anything / if you are hundred per cent / sure of it.
Options :

1. # Don't promise anything

2. % if you are hundred per cent

3. #® sure of it

4, % No error

Question Number : 192 Question Id : 6009298477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following sentence has been divided into parts. One of them may contain an error. Select the part that contains the error from the given
options. If you don’t find any error, mark ‘No error’ as your answer.

Don't promise anything / if you are hundred per cent / sure of it.
Options :
1. * Don't promise anything



2. % if you are hundred per cent
3. ¥ sure of it

4. % No error

Question Number : 193 Question Id : 6009298478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of the given sentence have been given as options. One of them contains a grammatical error. Select the option that has the error.

The plumber has just finished to repair the leaking tap.
Options :

1. * The plumber

2. % has just finished

3. ¥ to repair

4. # the leaking tap

Question Number : 193 Question Id : 6009298478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of the given sentence have been given as options. One of them contains a grammatical error. Select the option that has the error.

The plumber has just finished to repair the leaking tap.
Options :

1. # The plumber

2. % has just finished

3. ¥ to repair

4. % the leaking tap

Question Number : 194 Question Id : 6009298479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that can be used as a one-word substitute for the given group of words.



To treat food to prevent its decomposition
Options :

1. # Protect

2. ® Prepare

3. ¥ Preserve

4. ® Pretend

Question Number : 194 Question Id : 6009298479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that can be used as a one-word substitute for the given group of words.

To treat food to prevent its decomposition
Options :

1. # Protect

2. % Prepare

3. ¥ Preserve

4. # Pretend

Question Number : 195 Question Id : 6009298480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that can be used as a one-word substitute for the given group of words.

An imaginary line about which a body rotates
Options :

1. ¥ Axis

2. % Orbit

3. % Equator

4. # Eclipse

Question Number : 195 Question Id : 6009298480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the option that can be used as a one-word substitute for the given group of words.

An imaginary line about which a body rotates

Options :

1. ¥ Axis

2. % Orbit

3. % Equator

4. % Eclipse

Sub-Section Number : 2
Sub-Section Id : 600929493
Question Shuffling Allowed : Yes

Question Id : 6009298481 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (196 to 200)

Read the following passage and answer the questions given after it.

On March 2, professor Manoj Kumar Singh from Delhi University’s department of anthropology got an email from a student in Lucknow about a
few artifacts being found in Umra village in Sultanpur district. After assessment and excavation, a team of researchers has likely discovered a
human settlement from 6th to 7th century BCE.

Based on the terracotta structures, charred foodgrains, animal bones and pottery, an archaeologist from Archaeological Survey of India (ASI)
reached the conclusion that the settlement could have been a part of the ancient trade route towards Allahabad.

Lucknow student, Kartik Mani Tripathi, discovered the ancient remains on land that was dug up for an Uttar Pradesh government-sponsored
highway project. “Kartik sent mails to many authorities, including ASI, but got no response. He then emailed me on March 2. The next day, two
of my researchers, Sudeshna Biswas and Ravinder, reached the spot,” said Singh.

Biswas said the site was in a hamlet called Jawahar ka Purwa. “We found remains of pottery, potsherds, grains, bricks and bones and reported it
to our professor. He then led an immediate preliminary investigation of the unreported remains. The site located on a raised platform close to
Gomti river, might have been a permanent settlement,” she added.

Singh said locals called the place “Itawah”, or locale of bricks. “The villagers had found mounds of large unusual bricks. They had used mud,
potsherds and other precious debris and bricks to build their houses. The bricks were huge and heavy compared with contemporary ones. Due to

their longevity, almost every house in the area had used them,” he added.

“The potsherds were of various designs and had been stylised with concentric circles, fishnet wavy patterns, circles, and geometric as well as



non-geometric designs. The exploration yielded a variety of raw materials, predominantly red ware. The other relatively scarce sherds were of
black ware and polished black ware,” said Biswas. The archeologist with ASI said, “The photographs of the potsherds clearly show that they are
of the northern black polished ware culture, which was prevalent in the first millennia BCE. We can safely say that the site belongs to around the
7th Century BCE in the Kushana period.” “The entire region is rich in history, This was also the period when Buddha was travelling. In those
times, cities were flourishing. This could be the part of a trade route, which makes it significant. We hope to find more such sites,” he added.

Sub questions

Question Number : 196 Question Id : 6009298482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The passage is mainly about:

Options :

1. # the email sent by a Lucknow university student to a professor

2. % the excavations at the UP government-sponsored highway project site
3. # the use of archaeologically precious materials by the villagers

4. ¥ the discovery of a human settlement from 6th to 7th century BCE

Question Number : 197 Question Id : 6009298483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On which of the following findings did the archaeologists reach the conclusion that the findings belonged to 6th-7th century BCE?
Options :

1. # Charred food grains

2. # Big sized heavy bricks

3. ¥ Potsherds of polished black ware

4. % Animal bones

Question Number : 198 Question Id : 6009298484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who discovered the ancient remains of the settlement first at the UP government highway project site?
Options :

1. # A professor from the University of Delhi

2. % A student form Lucknow University



3. ® Research scholars from the University of Delhi
4. % An archaeologist from Archaeological Survey of India (ASI)

Question Number : 199 Question Id : 6009298485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the correct order of events.

A. Preliminary investigation by researchers from Delhi University

B. Discovery of ancient remains by a student of Lucknow University

C. Involvement of Archaeological Survey of India (ASI)

D. Digging of land for making a highway

E. Reaching the conclusion that the remains belonged to 6th-7th century BCE

Options :

1. ¥ DBACE
2. ¥ DABEC
3. % BADCE
4. % ABCDE

Question Number : 200 Question Id : 6009298486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is NOT true according to the passage?

Options :

1. # The villagers had found mounds of large unusual bricks.

2. ¥ Most of the potsherds found were of black ware and polished black ware.

3. % The ASI concluded that the settlement found could have been a part of the ancient trade route towards Allahabad.
4. # The settlement belonged to the period when Buddha was travelling.

Question Id : 6009298481 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (196 to 200)

Read the following passage and answer the questions given after it.

On March 2, professor Manoj Kumar Singh from Delhi University’s department of anthropology got an email from a student in Lucknow about a



few artifacts being found in Umra village in Sultanpur district. After assessment and excavation, a team of researchers has likely discovered a
human settlement from 6th to 7th century BCE.

Based on the terracotta structures, charred foodgrains, animal bones and pottery, an archaeologist from Archaeological Survey of India (ASI)
reached the conclusion that the settlement could have been a part of the ancient trade route towards Allahabad.

Lucknow student, Kartik Mani Tripathi, discovered the ancient remains on land that was dug up for an Uttar Pradesh government-sponsored
highway project. “Kartik sent mails to many authorities, including ASI, but got no response. He then emailed me on March 2. The next day, two
of my researchers, Sudeshna Biswas and Ravinder, reached the spot,” said Singh.

Biswas said the site was in a hamlet called Jawahar ka Purwa. “We found remains of pottery, potsherds, grains, bricks and bones and reported it
to our professor. He then led an immediate preliminary investigation of the unreported remains. The site located on a raised platform close to
Gomti river, might have been a permanent settlement,” she added.

Singh said locals called the place “Itawah”, or locale of bricks. “The villagers had found mounds of large unusual bricks. They had used mud,
potsherds and other precious debris and bricks to build their houses. The bricks were huge and heavy compared with contemporary ones. Due to
their longevity, almost every house in the area had used them,” he added.

“The potsherds were of various designs and had been stylised with concentric circles, fishnet wavy patterns, circles, and geometric as well as
non-geometric designs. The exploration yielded a variety of raw materials, predominantly red ware. The other relatively scarce sherds were of
black ware and polished black ware,” said Biswas. The archeologist with ASI said, “The photographs of the potsherds clearly show that they are
of the northern black polished ware culture, which was prevalent in the first millennia BCE. We can safely say that the site belongs to around the
7th Century BCE in the Kushana period.” “The entire region is rich in history, This was also the period when Buddha was travelling. In those
times, cities were flourishing. This could be the part of a trade route, which makes it significant. We hope to find more such sites,” he added.

Sub questions

Question Number : 196 Question Id : 6009298482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The passage is mainly about:

Options :

1. # the email sent by a Lucknow university student to a professor

2. # the excavations at the UP government-sponsored highway project site
3. % the use of archaeologically precious materials by the villagers

4.+ the discovery of a human settlement from 6th to 7th century BCE

Question Number : 197 Question Id : 6009298483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

On which of the following findings did the archaeologists reach the conclusion that the findings belonged to 6th-7th century BCE?
Options :

1. # Charred food grains

2. % Big sized heavy bricks

3. % Potsherds of polished black ware

4. % Animal bones

Question Number : 198 Question Id : 6009298484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who discovered the ancient remains of the settlement first at the UP government highway project site?
Options :

1. # A professor from the University of Delhi

2. % A student form Lucknow University

3. # Research scholars from the University of Delhi

4. % An archaeologist from Archaeological Survey of India (ASI)

Question Number : 199 Question Id : 6009298485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the correct order of events.

A. Preliminary investigation by researchers from Delhi University

B. Discovery of ancient remains by a student of Lucknow University

C. Involvement of Archaeological Survey of India (ASI)

D. Digging of land for making a highway

E. Reaching the conclusion that the remains belonged to 6th-7th century BCE

Options :

1. ¥ DBACE
2. ¥ DABEC
3. ¥ BADCE
4. ¥ ABCDE

Question Number : 200 Question Id : 6009298486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is NOT true according to the passage?

Options :

1. # The villagers had found mounds of large unusual bricks.

2. ¥ Most of the potsherds found were of black ware and polished black ware.

3. # The ASI concluded that the settlement found could have been a part of the ancient trade route towards Allahabad.
4. ® The settlement belonged to the period when Buddha was travelling.



